
����������	�
���

�

���������



���� ������	
�

���

���������������

���������	
��	�������������	�	�����
�����	������
�
��	 
��	 ��������� 
�������	 �
��
����	 ������	 �����
�
������	 ���������	 ������
�������	 ����	 ����
	  !�"!
#�������


	 ���	 �� �	 ����	 �	 ������
�������	 �
���	 �	 �!"	 �
����
 �������	 ���
���
#��	 
��	 $	 ���%����
#��	 ���%������
&���������	������
	 �	 ��'��	 �	 ���������	�
��(�����	 �����
�
����������	 ���
�
��	 �������	 ������#��	 �)"	 *	 +,	 �
�������	 
���#�
#��	 �	 �
-���	 ��
�
	 �
	 ���
���
#��	 �	 ����
���#��	*	.+	�	����������	����#����	��
�
	�
	���
���
#��
�	 �
	 �������	 �����������/	 ������������

&
��%�#����
�	 �	 0..1	 ��	 ������#��	 *	 +,2	 &��������

������
	 ���	 �
���	 ��'�
	 �
	 ���'	 ��'�
��������	 ������'��
��	��������'2	�
�
�-���'	��
�
	�
��������	�
	��3��������
�	 ����
���	 ���%������/	 ���
���
#��	 ��	 ������	 �������

�����	 �	 ���	�����������	�	�
����	%
���	����������	 ����
������������2	  ��	 �����
���������	 ���
��	 �����	 �
��(
��
��
���	 4	 �	 00	 ������#��	 *	 +,	 �	 ��
���	 0	 �	 5	 ������#��
* .+�	 ��������	 �
����	 �
��(���'	 ����'����/	 ������#��
�����2	�	 
�������2	�������	%
���	���(
�������
	������
���
�����	���
���	��
���	��	����������	���
	�	��'���������	6
�
#���
�����	%����
#��	���%������	���������	/��'����
	�	����
����������'	78���������92	���%����
	���
���
��'	�	�
���	�
:����
#��	 ���%������	 �����
��������/	 ��-��������/
������


��	����
������	 ��� ��
	 ����������	%
���2	 ���(�
	 �
������	 ��	 �/	 ������	 �������
������	 �	 ���������'���'	 �
�
����	��&�2	 ���
�
'	 �
�����2	  ��	 ��
	 �����	 ���
������
������	����'�
	�	�
����������	������������-���	���
�
�
��	 ������������	 ��/
����
	 ������
������	 ���
���
#��
����
�



����� �

ВВВВВ��������	
���
���� ККККК�
	��������
          П          П          П          П          П����		��
�����

�����	
�����
������������

♦♦♦♦♦      ÃÐÓÇÈß

$����	���� ���%���
��%� ����#��%
�&�� #'�(�


������ ��������� �� ���� !"� ��#�� ��$%���%&�'

5+	 �
'	 5;;<	 ���
	 �����'����
� �������	 �
���
���	 =����

)�3�������'	 ���%������
����/
������	 �������

6
	 �
���
���	 =����
	 )�3����
����'	 ����	 �����
(���	 �������
�
����	�
�����/2	��������/	��3��
�������	�	�'�
	����� ��/	���%�
������/	���
���
#��2	������
���
����	 ���%��������	 
����
	 �
�������	 �
������	 ��%���
#���

>
���
���	 =����
	 )�3������
��'	 ��
����	 �������������	 ����
���	������	�������
����	)�3����
����'	�)��!*!+��

6
	 �
���
���	 �����������
��
�	 ���������	 �	 ����������'��
�������
����	 ���%����
#��
���%������	8������	�)�
�!,-.
"/"	 �	 �
���������	 �������
���'
:����
#��	 ���%������	?�������
�
�
	 �)� �������

@	 ����
���	 ��	 �������	 ����
����	 ���'��
	 ��'	 A)	 �
����	 ���
���'���	 ��������-��	 "��/����
������	��������	��������������
��
���2	��3��������	���%������
�	����������
�����	��	���������

�
���	�������/	�	��#�
�����B���
���� ����/	 ����(����C	 ������
���	 �
���������	 �������
���'
)�3�������'	 ()�����+�����

D���
� ��	 �	 � 
������	 ����
������	 ��������	 ����/��������
�����	 ��������
�������	 �	 ����
��������	 �
����	 ��	 ��� (����
��'���������	 "��/���������	 ���
������2	��������	�������� ����

�����	��
�����������2	���%����
�
��	 �	 �
�����
���'��2	 ����(��
���	 �������
��������	 �����
���
����	 ����
(���'	 �	 #����	 ��
���
���	 ��#�
�����B������ �����
�
-���	 ����'-�/�'�	 ���%�����
���	 ������������	 ��������	 ����
 �����
��	������������	��(���'
�������	 �
�'�����	 �
������'2
�/�
��	����
	�	 �������'2	���
��
����
2	 ���
(���'	 �
�����������
��	�
���
�
�	�	�����'��	
��	���
�����	 ����� �������	 �
����
��
 ����	 ��'	 ���������'	 ����
��
���	B������ ������	�
�����'
�	 ����
-���'	 ���������

=����	 )�=�	 �
��������	 ����
���	 A)	 /���	 ��%�������
��'	 �



� �����

���
���
#������������������	���
�������'	 �	 ���%����
/	 ������C2
�	����
���	��	��������	��������
�������
����	)�3�������'	�)��!.
*!+��

���%�������	 ������������
��������	�	�
 
�(�/�'	�	���%���
��
/	 ���#���
/	 ������
#��2	 ���
���(�������
��'	 �	 ����-���'
���������2	�	����/��������	����
��� ���'	�	���%�����	��������2
��� (���'	��	����������2	������
�����	�������'-���	����
�
2	�
��
(�����'	 ���%��������	 ���'��'2
����#���
�����	 �
-���	 �
����
��/	 ��
�	 �	 ���������	  �����
���%����
2	�������������	�����
(���'	�	�
��(���'�	��
�	���%�
�������

=����	�������	�	����'�	�	����
�����	 ��%���
#��	 �	 �
����
)�3�������'	�	������	�����	�
�
���
��'��	7�	5+	��'��'	5;;4	��	��
5+	 �
'	 5;;<	 ��92	 ��������	 ������
�����	 ������
	 �
	 5;;4	 ��

=����	)�3�������'	 ���������

�
�	 �	 ����
�	 =����
	 
����-��
���%����
#��	���%������	7
��9
������
�������	 )�3�������'
���%������	 ������E	 �)��!*!+�0
�)��1�2����3�0� �)�����+����0
�) �!*��"�+����)

=����	)�3�������'	����
�	���
���
�
��	�
	FGHHH	��������	����
���
������	���%����
#��	�������
��/	 ���%������	 7��=�9	 �)��!.
*!+�0��)��1�2����3�0��) #����!.
���3�0� �)�����+����)

=����	 )�3�������'	 ��������
���'���	��'	GH	�3���
	)�3������
��'	���%������	������2	�������
��������'	 0.	 ��'��'	 5;;<	 ��

I����	 =����
	 )�3�������'2
�������
����	 ���%����
	 ����'�
-�/�'	 ������	 �����(��������
������	�)�����/	���	��� ��	
��
���	 =����
	 )�3�������'	 �	 ��'��
�	 �/����	 �
	 �������

6
	 �
���
���	 =����
	 )�3����
����'	 �	 �
��� ��������	 �� ��
��������	 �������
����	 )�3����
����'	�)� �!*!+��

♦♦♦♦♦      ÐÅÑÏÓÁËÈÊÀ ÁÅËÀÐÓÑÜ

�����
���
%� 4���
� �
5�

���� ���������� ���4#�6(��

�������
����	:����
#��	���%�
������	 !��
����	 ���"��� ��3��
��%�������
�	 ���������
	
���.
7�"���� �!��+�"��	 �	 �����/	 �
 
���/	�
��(���'/	�
�����
�����
���
	 ���	 ��������	 �
��������	 �

�����
�����	 %����	 �
��
�

J����	:�!	
�#�������
�	����
�
���	 �
	 ���2	  ��	 �����
���	 ���
�����	�
��� 
���'	�
	�����
���

���	����2	�	��/	��	�������
����
�
���'	 ��������������	 ������'2
�����������	D�������	���������
�
	 A)	 �������������/	 ���
/	 ��
�����(�������
���	 �������/
����(����2	����������	��������
�	���������������	���#������C�

	���2	�	 
�������2	�� �	����	��
����� ����	�
��%���	��
���	���
������������	���
�
2	����
���	�



����� �

�������	�	�	�����/	���
/2	������
�����-�/	 �
����	 ������	 
	 ���
�����
��	�������	�
	�����	%����
�
��
	 ����
��'��	 �
������
�
�����	 ��������	 �	 ��������

��
�
	 �����
����
	 ���� ��
=�����	 ���������	 �	 8��������
�
#��	���������
	�
����
���'	��
������(���'	 ����
#���	 �	 ����
 ���	 ������	 �	 ��������	 �
	 ����
��
�����	 %����	 �
��
	 �
������
���	 �����
��������/	 ���
���
�
#���	 
	 /���	 ��������	 ��������
������	 ��'����	 �'�	 �
��(����
D�����
	 �	 "��������	 ������
�


	�������
��	��(���	$	�	B����
������
�
	:�!	$	 �
��� 
��	 ����
��
���	 �	 �
������
��2	 �
�	 ��
�
����2	�
	����	��	1	���2	
	�	�
����
���
��	 ���������������	 ����
��
�
	$	��	���������'	���	���
����
�������	 ����
��
	 ��/��
	 �

�������	
	��� 
'/	���� ���'	����
�
	 �����
��
	 �	 ������	 ��������

�����	 ���-��2	 ������
	 ��	 �����
��������	 �	 ���
�2	 
	 �
���	 ��
����'	������
	��	�/���	�
	������
���	 ��	 �����	 �������
���'	 ��
���������'	 ��������	 ���/	 ����
�����	 ����2	 �����
��	 #��������
�
����	 � 
����	 ������
�������
���%�������	 ���
���
#��	 ���
����������	 �	 �
��������	 ������
�
��'	 �����
��
�

�����������	�
��	����������
���� ���'	�����������'�	�������
���
����/	 ���
���	 �����
�������
����	���
�����'	��	������-����
�
��(����	D�����
	���������
	�
"��������	 ������
2	 ����
�����
���
�����/	 ��#�
����/	 �������
�����	���	��������	�
��������	�

�����
�����	 %����	 �
��
�	 &
��
���'������	 ���������������

����
�
	�
�� 
'	�����
	��	��� ��
���	 B���	 ���������	 
	 ����
�
������	 ��(��	 �	 ������
������
:�!�

♦♦♦♦♦      ÐÅÑÏÓÁËÈÊÀ ÊÀÇÀÕÑÒÀÍ

�#���8
� ����
�.��
������4���

	 (�
����
�����	 :����
#��

���%������	 &���������	 �
�
/�
��
�	���	�������
���������	#�.
/3����� �!��+���	 �����'�
��
����� 
	 �������������	 �	 �
����
�����	
��
�
�
	:����
#��2	����
������
����/	�	����� ��/	���
�
���
#��	���%������	 �	 �
������
�����	 �����
������	 ������
�'

����-��	 ���%����
#��	 ���%�
������	 ��,��9�:� ���+��/��.
"�:�

&� �	(�
	�	/���	��%�������
�
��'	 
��	 �����	 G	 7���� �������

��9	�3���
	���%����
#��2	��	����
�
/	 �����'�(����'	 �	 8��
��	 ���
�������	�
���
��'	����
��
����
�����	 8��
�����	 K��
��������
B������ ������	 ����-����
2	 �
�
����	�������	� 
�����
�
	�����
�
#�'	 
���

? 
������	����� �	����	����
��%�������
��	 �	 �
�����
�����
��/	 ���#�
���
/	 
��2	 �������
�����/	 �
	 �
����������	 ��8
K��8�L=2	 �	 �
����	 �
�	 �������
����	 �
���
��	 �	 ������� ���
��������2	 �	 ��#�
�����	 �
���



� �����

�������2	�	����������	������ ��
���	 �	 �
�	 �������	 ��������
��
���������	����
�������	��
���
����	 
��
���


�	 ����� �	 ����'�	 � 
����
�����'����	������
������	
��	�
&���������	 �
�
/��
�	 ;����
	��7������)

♦♦♦♦♦      ÐÎÑÑÈÉÑÊÀß ÔÅÄÅÐÀÖÈß

�����5����< � ��%�6�< ���#���8�5

!����	 0M;	 ����	 ���/	 �������
�����#�	 &�����	 ���� 
�	 �	 B���
����	�����
����	�������	�	�
���'
����/
�	)�	B���	����-��
	������
�
���������	�B�
	�	��
����������
������	�-���������=���)

!����
����	 �������	 ���� 
�
��������
����2	
	�
���	���'�
	��
�
�������� ����/	������	&������
�'�	 ���
����/	 (���������2	 ���
�
�-�/	 ����/����	 �	 �
���'/2
�������'	 ���
����	 0;N	 ��	 ����
������	 ��������	 )��
�����	 .;N
������	 ����� ���	 ��
����

�
�	 ��
�
�
	 J�OP��#��
2	 �
B���	 ����	 �����	 ���' 	 �������
���/	 (���������	 ������	 ����/�
����	�	������/	�
���'/	�������
����'2	 ����
2	 �
��
�
2	 
	 �
���
!���
���	 �	 
�������	 �������
��
'	 %����
#�'	 ���%������
����������
	 �����	 5;;	 �
�����
��'	 �
���
	 ������	 �����	 ���'��
D�'	 �����2	 �������	 ��	 ������
���/
��	 �
	 �����2	 ������������
��	 ��������	 ��������/	 �
�����
�
	 �
��	 ��-����
���
������/
� ���������

 ������$8��>#%������$�������%

♦♦♦♦♦      ÌÊÏ ÐÀÁÎÒÍÈÊÎÂ ÍÅÔÒßÍÎÉ, ÃÀÇÎÂÎÉ
ÏÐÎÌÛØËÅÍÍÎÑÒÈ È ÑÒÐÎÈÒÅËÜÑÒÂÀ
ÍÅÔÒÅÃÀÇÎÂÎÃÎ ÊÎÌÏËÅÊÑÀ


	 ������	 �	 00	 ��	 0+	 �
'	 �
8��
���	 7"��#�'9	 ���	 ��������
�����
�	 A������������	 �
��
��
����'	 ��'���������	 6�%���
����
������%����
	&:C2	
	�
���	�����
���	 ����	 A��
����
	 ��'��������
��	 ���%������	 ���
�	 =6�2	 8���
���2	 6�������	 �	 "��#��C�


	 ��
�
���/	 �������'��'/
����'��	 � 
����	 41;	  ������	 $
������������	����� ��/2	�������
���
����/2	 ���
����/2	 ��
���/
���%������/	 ���
���
#��	 �	 
��

���	 ���%����
	 �
��������	 ��%�
�'���2	�
�����	���
����	�����(�
��������	�	������������
	&������
����	:����
#��2	
	�
���	������
�
������	 ����������/	 ���%������
���
�	=6�2	
���������
���2	6���
�����	 �	 "��#���

)��
���
����	 �����
����	 �

�����
�	 ������	 ��������	 $	 ����
���
�
�����	 �'�
	 ���������/	 ���
���2	���#�
������	:6�&2	�������
���������	 �	 ���������	 ���#�'�
��	 �	 ��#�
�����	 �
���������2



����� �

�����
#��	 ���%��������	  ����
���
2	 �
�'�����	 �	 ��%���
�����
���������	&:2	��
�����	��������
��'	 ���������	 �
�����
�������

�
	 �����������	 B�
���	 ? 
�����
��	 �����
�
	 �����'����	 ������
�
����	 ���%������/	 ���
���
�
#��	��	������
����	�������
��


	 #��'/	 ���
�������'	 �	 ��
��
�����	 �
����	 ���%������	 ��%���
�
������	 ��������
	 �����/	 ���
�
���	 ��������	 �������	 ����2	 �

�������	���������	�	����'��	� 
�
����	 �	 ��������'/	������������	�
������
������	 ����������/	 ���%�
������	 8����
���
�
2	 !��
����2

���������
���2	������2	�
�
/��
�

�
2	 6�������2	 "��#��2	 ?��
���2
�������
����	���	��%���
�������
���%������	���������3����

K��	� 
������	����
�
��	�����
������'	 ��	 �
�����(���	 ������
�����	 ���%�������	 �����
����
���	 �	 ��������	 �������� ����
�

�����	�
���(���'	�
����	�����
�
�
	�	��������	����
	����	������
����	�
���
���	=����
	�������
���
���	��	��%���
���������%�������
)��������	�	��������	�������'�
��'	 ���%����
#��2	 ����'-�����
0;;������	��	��'	����'��'	�	�� !
�
��	 �������	 �������������	 �������
�
	 ��%�'������	Q�����	 �����	 ���
�� 
���'	 4;	 ���
��'	 5;;<	 ��

��#��� �#���8�� ?
���
%� #����@
� �
(
 #�
�


♦♦♦♦♦      ÌÊÏ ÐÀÁÎÒÍÈÊÎÂ ÑÒÐÎÈÒÅËÜÑÒÂÀ
È ÏÐÎÌÛØËÅÍÍÎÑÒÈ ÑÒÐÎÉÌÀÒÅÐÈÀËÎÂ


	 8��
��	 0.$5;	 �
'	 ���(��
� �������	�
���
���	=����
	����
���
������	 ���%����
#��	 ���%�
������	�
��������	������������

�	�����(��������	�����������/
�
����
����	 
	 ���	 �
����	 ����'�
��	� 
����	������������	���%���
����	 ���
���2	 ���������
����/
���������2	������
������	����� �
��/	 ���
���
#���

�
�	 ����-��	 �������
����
���	 A=��������C	 &�""���:� 
�.
1�"��2	����	�
���������	
���
���
���	 �������	 ��'���������	 ���%�
������	������������	���
����	? 
�
������	����������	��%���
#���	�
��#�
�����B������ �����	�������
���	 ����������	 �	 ����/	 ���
�
/2
������
/2	�
	���������/	��������

'��'/2	 �����'����	 ������	�
����
��	�
-���	���������	 �����	���%�
����
2	 ������ ����	 �
�'�����2
����������	 ���������	 ���
��
����
2	 ��	 ������
�	 �����
#��
���%��������	  ������
�

>
���������
���	 ���(��	 ���
��������	 �����	 ��	 ��� ���/
�������	���%������	$	���
���
�
#��	 ��%���
#������
�
���� ��
����	 �
�����	 &� �	 (�
	 �	 ������
(�������
���	��	%���	�	�������2
�����	�����������	��%���
#����
���	������2	�
������	�
����
���
���	�
��2	��������	����������/
B����������#�%����/	 ��/�����
����	 D�	 � 
�������	 �
���
��'
��������	 ��(���'	 R�������


��	��	 ��%���
#�������	 �����



� �����

�� ����	 ��'���������	 ���%����
�
#��2	 �
���	������ ����/	�
���
��
���	��	B���	���������	6
	���
���	 �������	 ��(���	 �
���	 ����
�'��	 �
����	 ��	 
�
����	 �	 �����
-����	 ����-�/�'	 �
���/	 �
��
��� ������	 ����
	 ���
���
�
#���	 =����	 �������	 ���
������
������ �����	 ��������
#���

? 
������	=����
	���	�
����
(
��	����-����	��	����
/	G	7����
� ��������9	�3���
	
��2	����
�
�
����	 �
	 �
�����(��	 ����������
B����	 ������
�������	 ��3������
��'2	 ����������	 �����������
���%�������	 �����
�������


	 ��'��	 ��	 0;;�������	 ���%�
��������	 �������'	 �	 ���
�
/
=6�	 ����'��	 ��(����	 �
��
���
�
��	��
�	���
���
#�������
����
��/	 �������'���2	 ����
���
��
����'	 �	 ��� ����	 %����	 ������
����'	��������/	���������	!���
����
�
��	 �����
���	 �	 
����

��	��������	����'���	��������
�
2	 ���	 ����
�
��	 ����#��	 ����

%����
#��	 �	 ��'��	 �	 �
����	 ���
���� �����	 ��/���

��	 ������(���'	 ��
��#��2	 �
B��	��	���	���	��������	�����
�
�
	����	A=����(�������
���	����
������	�
�����
�������
	�	&������
����	 �
�
/��
�	 �	 ��������
'	 �
�
���
	 �	 �����
�����	 �������	 AK��
���C	7A"���C9C�	?	���%������	�
�
�
/��
�
	 ����	  ���	 ��� ����'	 �
B���	��
���	6
	�����
��	��������
��	 �����
��	 �
�����
2	 �������
�
���
�
��	 �	 ��
�����	 �	 ��������
���
/	 �
�������� �����	 ��'�����
�����2	��
�����������	�	���%#���
����	 �	 �
��
�����	 ��������	 �
���
���
������/	�	����
�����/	
����
�	�%���	��#�
������������/	�����
(����2	 �	 ����������	 �	 �������'�
-��	 �����
�	 �	 �
��
�����

�������������	 /��'��
	 ������
 � $	�
�
/��
�����	���%�����	���
�
������	������	�	��
������	�����
��������
	 �����	 �����#�	 &������
����	�
�
/��
�2	�	�����
����	���
��-����	 ������������
	 �	 ���
���

#�������#����
�>
#�@�
�>���� �
�����#���

♦♦♦♦♦      ÌÎÏ ÐÀÁÎÒÍÈÊÎÂ ÀÂÒÎÌÎÁÈËÜÍÎÃÎ
È ÑÅËÜÕÎÇÌÀØÈÍÎÑÒÐÎÅÍÈß

04	�
'	 �����'����	 �
���
���
=����
	 ������
�������	 ��3��
������'	 ���%������	 �
������
���	 
�������������	 �	 ��������
/��'����������	 �
(���������
��'�

=����	 �
��������	 ������
A) �
����	S�	�	=������	���%���
����	��	���-���������	����#��
���	 ��#�
������	 �
��������
	 �

����	�
-���	��
�	�	���������	�
�
��������	 ���
���C�

=�����'	 �	 �
(�/	 ���
��'/	 ���
��
����	���������	���������2	����
�
	��	 �����	 �
��� 
���'	 ����
(��
��'	 �	 ������������	 ���������
��
����	��� ����	'��'���'	������
�����	������	�
�����
�����	�	����
������
���
'	 �
���-�������	 ���
�������/	 �������'����	 "
�2	 &���



����� �

�������	���%����	����
	���������'
����
	 �
�����
�����	 ��������
�
��� 
��	 ��(�	 �
�� ���	 ����
�
(���'	��	��3�������'�	�	��������
'��'�	
�������
	�	
��������
(
�

	 ?��
���	 ����	 �
�����
�����	 �
�
(�����������	 ����
�2	 ��	 ���
������������	 �
'��'��2	  ��	 �	 �
�2
���2	����	A����	���%����2	�������
�	�����	�
-�-
��	�
(�	��������C2
�	 ��	 ���
��	 �����
�
��	 ��
��#��
�����	���%������	
	��������	�
�
�����
����	 ��'�	����/�	����
���
���%������/	 ���
���
#��	 �

�������'��'/�

6������������������	 ������
�'���'	 �	 �
��� �����	 ����
(��
��'�	
	?��
���	 ������	 ���	 �����
�
(��������������/	 �������'�
���	������'��	����'���	�������
���
��	 ��'�
�������
�

6�	����	�	�������������	����
�����	"
�2	 �����/�	�������	����
�	 �
��� �����	 �
��%��/	 ����
�
(����	�	������������	�	!�������
����	���%�����	�
��������	
����
����������	�	�������/��'�������
����	 �
(����������'�	 )��	 ����
���'	 �
	 ���/	 �������'��'/2	 
	 �

���
������	 ������	 �
��� ���
����
(�����

���
�
�������
�	 ����
#��2
 ����	 =����
	 ���(��	 �	 ������2
 ��	�����	�������	�
����	��	 �
�
��� ����	 ����
(����	 �	 �������
�����/	 ���������2	 �����
���'
��
���
#��	 ���� ����/	 �	 ��/
��'�
�������2	�	����/�����/	����
 
'/	 ������
��	 �	 �����	 B����� �
���	�����
�	����������'2	������
����	�������2	��������
#��2	���
����	 �	 ������	 �
������	 
�#��
�������
�	 ���
	 ��	 �
���	 ����

�����������'	��
��2	
�#��	������
�'��'	 ������	 �
	 �������'��'/�

=����	 �
��������	 ������	 A)�
����
/	�
����	G	7���� ��������9
�3���
	 
��C�	 ? 
������	 �
���
�
��'	 ����
������	 �	 ����/�������
���	 ���	 ���������'	 �	 ���-�����
������	��%�������
����	
��2	�
��������	 ��������	 ����'���
��(���'2	 ��	 ����
��	 �'�	 �
�� 
�
���	 �	 ������������

I����	 =����
	 �)�	 ����
�
�
����	 �
	 
������
#��	 ������	 ��
�����	 
��	 ��'	 ���������'	 ����
�������
���	 ����-�/�'	 �
����
��
���	 �����	 ���%#����
��
�������	�	������	���(
�������

���
���	 ��
���	 �	 B���	 ���%����
�
	 �������	 ������	 ��	 ���	 � 
���
������

&
���
����
'	�
�
 �	��3������
��'	 �
	 �������'-��	 ������2	  ���
��	=����
	 ���
����	 ����
���	 �

�
������	������
#���
�����	����
���
�������	�
����	�	���������
���
�	 =6�2	 ���������'	 ������
�����	�
���
���	���� ���	�����
�����	 �����������	 �	 ����������
�
	 �����'����	 ������	 ������
�
�����/	���������/	��������
���
���
��	 �������'���	 ���
���	 ��
�����%������2	�
���������	������
��2	 ���������2	 �
��������	 �	 ����
���	 �
�������
������	 �	 �
�� ��
�����	 ���
�	 �����
�	 
	 �
���'-��
����'	�
��
�
���
���'	���������
�	����������	�
��/	��������
���2
�������
���'	 �������
	 �
	 B��
#����	 &�����������	 ���%������
���
����	 ����������	 ������ ���
�	 ��
���
#��	 ������
	 ����������
�������'���2	���������
��	�����
-���'	 ������������



�	 �����
������
����	��������������	
�����
������������

(�%)"�)%�(��*!�+���'��%,�"#

$� #��>��&�� &�#$�
�#��

���	�<� �<�>� #��>�<�� ���4#�6(<

���������	
��
 ��
�����
 ���
�����
 ��������
�
 �
������������
�����
	
���
�

�����
��
�������������

�
 ���������
�����
 ��� ���!
 ���
  ���� ���"�!
 
�����#
���������	
 �
 ������
 ������
 $����
�����
 �������
 �
�%���
��
���

�&�
� ������
���
'��
������	
������	
���#
%�����
��	
��
 ������
 �
 ������
��
 �����
 �
 �%���
 ��"�#
��	
�#���
���������
������
�� ��
����(
)�
����
���#
���
 ��������
 �����������	
 *�����"��
 ���%������
 ��#
������
�
 �������� 	
����
�

���%������
�����	 �����
���������
��	 ����
���	 �
���
B��������2	 �	 �������	 ����	 ����
��	�����������2	/���(�	�
���
��
�	 /���(�	 �����	 �������	 ���%�
�����	�����2	��	 ��-�����2	 �����
�
���������	%���#��	�	��'�
����
����	 =�����'	 ��	 ���������	 �
�
(���	�
�
 
��	'��'���'	�������
 ����	 ���������	 �
�
������
��
��2	 �����
������	 �	 �/�
��
����
	�
���
�-�/	�2	����������2
��������	 �
	 �����������	 ������
����	 �
�����
�������
�


�	��
��	���
	:����
#�'	���%�
������	 �	 ��	  �������	 ���
���
�
#��	��
�'�	� 
����	�	�
���������
 �����	��'���������2	�����
'	����
-�����'���'	 �	 ������	 ���������
 �����	 �	 �����
�����	 �������
AK����C2	�
� ����
�-��	5M	�
��
�
����
�����	 !���(��	 ����
���
����'��	 ����������	 �
����	 ��

��#�
�����	 B���������	 �������
��/	 ���������
����/	 ���������
&������
�	$	����� ����	%��
����
���
��'	 ��#�
����/	 �����
���


	 �� ����	 ���(����	 ���
	 �
�
��
�����	 ���
��	 #����
��
��
����
'	 �
���
2	 ��'�
��
'	 �	 �
��
����������	 �
����������
	 �	 ���
���
������	 �	 �/�
��	 ����
�	 6�
���(����	 ���	 ����������'��'	 �
������
�����'��	 �������
2	 ���
��
��	�
�����
�����	��	���	����
�
�	 ������
2	 �������	 �
�
���'
��-��������	 �������'	 ��	 ������
��	 ���%�������	 )�����	 �����
����	 �	 ���2	 ���	 �����	 '��'���'
������
�������	 �
��������	 $
������	���%�����	���	�-�	�
����
����	 ���
���
#���	 
	 ���#�	 ����
#��	����������	���	�
����2	��
�
 �������	�
�(�����	��
�
	���%�
������2	�	���	 ����	�
	���-�����
�����	 ��-����������	 �������'�



�����
������
����	��������� ��

��	 �
�#����
��	 B��	 �
�	 ��-��
����������	���%������	�	����'�
-�/�'�

6������
'	����
#�'	���
���
�
���'	�	������	���������	�	������
�����	 �	 >
���	 �	 ������	 6���(�
���	�
���	�����	���
��	��3'����
)�	���	����'�	 �����	���
	�
�
�
�	 ���������	 ����
#��2	 ����
	 ���
�����	 %��
������	 ���������
������
��	�
�	����	������'�	"���
�
	 ���%�����	 ���������	 ����
��������	���������	6�	��	 ������
�����	 D�����	 ����	 ��������'2
�������	 ����
�'�	 ��	 ���	 ����
�����
��������	��	����(����	�
�
�� ���	  �������	 ������	 �	 ���
�
�����2	 ��	 ��/	���	����
���	 �
�
���	 �
�	 �	 ��	 ��������	 �����
���	 ���������
'	 �
���
	 ������

�	����2	 ��	����������'	���%���
����	 �����
��	 ����	 � ����	 ���
�����
�����	 �����	  ��	 �����

��
���	��������-���	�
���
�	=���
��	 ��/	 $	 �����
�-
'	 �����-��
��������	����
	�	����
/	�������
��
������	 ���������	 �������
�

!���(��	��
 ����	��	����'��
������
�	���
����������	�	���
�
��	����
	�
���������	L��	���
	��
��
���/	%���#��	�	��'�
�������
���%�������	 6
	 ����(������
�������'���	 �	 �
�
������	 ��
��
���	 ����������-��	 �	 ���������
�-��	 %���#���	 6
	 �
(	 ����'�2
����	 �	 ���������	 �%���	 �
���
�
�
	���
�
����
���'	�	�����������
�'	 �����
������2	 ��	 �	 ���������
��������	 �������	 #��������
���
�����
���
���'	 �
�����
���'�	 �
���%����
�	 �
	 �
#���
�����
������2	 �
�	 B��	 ��
��������'	 �
#��������
���/	���
�
/	�	���� �
���	 B����������

��	�
���	���
�
��2	 ��	�	�
�
(��	���
��	����	������'2	 ����
�
	������	�����
�����	�
�
����
���	 ��
��	 ���	 ��'�	 ��	 ������
�� ���	�������2	
	 ��#�
�����
����
���	�����	��������	���'��
�
�	8	������E	�����
�����	���
�������������	 ������2	 ���� ��
�
	��������2	��	�
(��	�
� ��
�2
����
��'��	 ������'	 002,	 ����
������


���������	 �
��	 ���������
��'	 ��	 �	 ����	 ����	 ��	 ���
 
��
�����
�
	 �	 #����
�����
����
�����
�	 ���������
��'	 �
�
����
���	 ��
��2	 �
�	 �
'��'��	 �������
���	 �
(�	 ����������	 D�����
��
�
��2	 ��	 ����������	 �������
��
����������	 �	 �
�����
����
���/����	 (��	 �
	 ���������	 �
��
���������	 ���%�������	 ���#���
#��	%�������
��'	�������	���
�
��	 ����
�	 &�
�#�'	 ���
2	 ������2
���
����
'�	6�	 �	 �
���	 ����
#��
��	�������	R	�
��(�	�����	�����
��	 �����
���'	 ����'��'	 �
(��
���#��#���

=����	 �
 ����'	 �� ���	 �	 ���
����	 �	 ���%������
����/	 ���
��
/�	��	��
������	��������	�/
�	������	�����	�����	�����/�2	�
�
��-���	 ��-��������������� ��
����	
�#���	���
�
��2	 ��	�	/���
B���	�
����	�
��
���	���%�����
���	���
���
#��	�
���'�	�	�����
���'�	 ����	 �	 ����	 �
�����(���
������
��������	��%�������
��'
���%��������	 �������'�

?	 ��������	 �����
����
	 ����
���	 ����	 �������	 �
����2	 �
�
-�-
�-��	 ��������	 ��
�

��
��
���
2	 �	 �������	 ���%���
����
�����	 �����2	 ���'-��	 �

�/	 ���
���



�
 �����
������
����	���������

������ �� ���������
�������


	 (�
����
�����	 :����
#��
���%������	�����'�
��	�������
�
#�'	������������	����������
��
�
K��	
����E	AAA)BCDE)EF	�	6
	���
�
��#
/	�
��
	�
���-��
	��(���
'
��%���
#�'	 �	 �
#���
�����
���%#�����E	 �������'	 �	  ������
�����	 �	  ������/	 ���
���
#�'/2
?��
�	 :����
#��	 ���%������2
�%�#�
�����	���������	�T	�����
���'-�/	 ���
���	 $	 �����
������
=����
	�	R��������������	�����
���
�

)��������	 �
�����	 ��������
����-
��	��'���������	���%����
���	 �	 �%���	 ��#�
������������/
����(����2	�
�������� �����	���
'���������2	������ ����	�����
��
�����	 �	 �/�
��	 ����
�

6
	 �
���	�����	 ���
�������'
�	������'��	���%�������	�����U
�
�	�
���	�
���-���	�
����
��2
�
�
�-���'	� 
���'	���%������
�	 ����������	 ���
	 &�����	 �	 �
�
�
/��
��2	 ����������	 �	 �������'�
-���	 �	 
������	 HH	 =3����	 ����'�
-�/�'	 �
�
/��
�
�

������ �����
���  ��������


	 (�
����
�����	 :����
#��
���%������	 �����'�
��	 �������
�
#�'	 �����	 �����	 �
��������'
�������
���'	 :����
#��	 ���%�
������	 &���������	 �
�
/��
�2

���4#�6(�<�� ��#��� �(� �
(
 #�
�


�
����
�
	 ������ ����/	 �
��
6�&�OV��
�
��
	 A)�-�����	 �
���%�������	 ��������C	 7R��
�
��������	A8���C2	8��
��2	5;;<2
4,+	 ����9

&
���
	 ����'-
���'	 0;;����
���	 ���%��������	 �������'	 �
�
�
/��
��	 70.;1$5;;1	 ���9�	����
��������	�	�����	�
���
�	������
������ ����/	 �
��2	 ���%�����
��=� �
(
��


	�����������	�
�	/
�
������
�����'	 �
����	 ��������
���E

A8����	�
�����	������� �����
�	 ��
�����	 ������	 ��'���������
���%������	 �	 ������ �����	 ����
����	 ��-����
2	 ���
�
�������
�
�������	 �
�����'	 ���%��������
�������'	�
�	�	����2	 �
�	�	�	�
�
�
/��
��2	 ��'���	 %����	 ��
����
�������'	���%������	�	�
��� ���
��	����'��	��
���	�	�
�
/��
��2	

�
���	 �
�����
���'��	 �	 ��-��
���������	 ���
���
#�'���	 )���
����
����	 ����������	 ���������
��	�	�������#���
������	���/����
�	��� ����	��������	�	���������
�
���	����������/	�������	�����
������ ������	 �	 ��#������ �����
��	
�
���
	����
��	��������
���
������	 #��������

�����	 ����2	 �	 �
����	 ���
-
�
��	�
	���'	����
���	�	���	
�����2
 ��	 �������	 �	 ��� ���������	 ���
-�������� �����	 �
���	 ����-
�
���'	 ��������	 %���#�������
�
��'	 ���%������
����/	 ������	 �
������'/	 ����
���
#��2	 �
���
��



�����
������
����	��������� ��

���
���'	 �����	�	������	 B����
��������	���#���
	��	����(����
�	 ���%����
��

!���������2	������'	�����	���
������	�	�����	�����������	����
��	 $	 ��	 �����	 
�
��
#��	 �	 ��
�
�������'	�
 ��������	�����	����
����	 ���%��������	 �������'	 �
�
�
/��
���	 L���	 ����2	 ��������
������	���'��	�	��(���	���2	��
�
�
��'	 ������	 ����������	 �	 ����
����	�
	����	����/��
	��	���
���
�
����	�������	�	������
���2	��
#����
�����
����	 ��
�����	 B���
������	 �	 ���������	 ���� ���
B���������	�����	��������	�	��
��
 ��/	 �	 ����
 ��/	 ������
/
�
����	 ��
������	 "��	 ��	 �����
�
������	 ����
�� ���	 �
����
�
��'	��������/	����-����	�	�#���
��	 %���#���
�����	 �	 #������
B%%����������	 ���%������/
���
���
#��C�

���!��"#��$� �#���%
���������� ��&%�����
��%����

5	 ���'	 �	 (�
����
�����	 :��
���
#��	 ���%������	 �������
����
	 �	 ��#�
�����	 �
-���	 �
�
������'	 &���������	 �
�
/��
�
&)�)�����*!7���	������
���
	���
���������'�	 ���������
����/
���%������
����/	 ������	 �	 ���
����
����/	 ���%��3��������
��
��������������	�
��
��	����
���
	 "��������	 ������
�

=����'����	 ���	 ����������2	 �
/���	 ��������	 ���%�������	 �
�

�������	 ����
�
��	 �����
���2
 ����	�����	����
������	��
���
���	 
��	 ����
���	 ��	 ��3'��2	 ���
�����	 ������'	 �	 ��������-��
>
����	 �	 ������	 !���-��	 "�����
���	 ������	 ������	 �������
����
�
��	 �����	 (������	 ��#�
�����
�
�
����	 �	 �������
#��	 ��'	 ���
������/	 �
�������	 �
��������2
��������	���-��2	 �	���	����/��
����	 �����	 ���������	 ���
����
��
�������(���'	 �����	 �
�����
�
�����	 �	 �
���������

? ����
'2	  ��	 �	 ������������
�	���
�/���	����
�����/	��
���
��/	 
����	 ������	 �����	 �������
���	 �����	 �
�����2	 ����%�#����
�
����	 �
�����
��������	 �	 �����
������	 ����	 �
��
�����	 �
	 ���
��
���	 �	 B%%��������	 ���������
�
���	 �������	 ��#�
����/2	 ����
����/	�	��'�
���/	�	����	B�����
�� ����/	 ����(�����


	/���	���������'	����������
�	 �	 ���2	  ��	 �	 "�������	 �������
����/�����	 �
�������	 ��
�
	 �
��'�
������	 ������� ��/	 �����
��
�������	�
��������	$	���%���
����
����/	 �������

���%�������	 
��������	 ����
������	 �������	 ��
������������
���	������	�
	��2	 ��	�	���	��
��
�� ����	 �����������	 �����	 �
�
-���	 ��
�	 �
��������2	 '��'��
-�/�'	  ���
��	 ���%������2	 

�
���	��������	��������'	�
���
%�#����
���/	 �
�
/��
���	 ����
���#��	������
������	���
���
�
#��	 ����
2	 ���������-�/	 �����
(���'	 �����	 �
�����
���'��	 �



�� �����
������
����	���������

�
������
��	 ����	 ������������
��������	 �	 ����
(���'	 �	 ���
�
�
����
�-�/	 ��
��	 ���������
��'���������	���%������	�
	�
��
���	 �������'����

������
������	 ���%������
����
�
����	�
	��2	 ����	����-��
"�������	 ������	 �����������
�
����������	�	�
�
/��
��	�������
��	��#�
������	�����
����
	�	���
��
�	�
���	��
�����	����2	�	�����
���	��
�����������	���/	���3���
���	�������/	����(����	����	��
�
�����
����	 �	 ��
����������

���!��"#��$� %��&���� '
(��� ���$� %��&���

�����
�����	 =����	 :����
�
#��	���%������	&���������	�
�
�
/��
�	 �
��������	 �	 �������
5 ���'	�
	�����	�
���
���	�����
#��	 ���%������
����/	 ������
�
	 �����
/	 �����
���	�
�����

�	 5;;<	 ��


	����'���	���������	��� ���
���
���'2	  ��	 �����	 ���%������
���
���'	 ����������E	 AI�������
����
	$	���������	�����WC�	)��
�� 
���'2	  ��2	 �������'	 �
	 ���
��� ����	���������	���
��2	���
�-�	 ���
���'	 ����(������
��������	�����
��������	���
�
��	����
2	��	���
(���	�����	��
�
�
������	 ��
��	 �����/	 ���' 
�
��������	  
����/	 �������'�
���2	 0<	 �����
����	 �����	 ���
��
��'��	 �
�����������	 �
�����
�
�����	�	�
�����������	������
�����	 %�����

���������	�
������
	�
	����
��	 ����
	 '��'���'	 ������������2
� ��
��	 :����
#�'	 ���%�������
�����������	�
����
���'	������
���	 �
�����
�����	 ���	 ������	 �
����������	 ����'-�/�'2	 �������
���
#�'	 �
���
�-�/	 ���-��U
�
����	 ���'���	 �
�����������
���	 �
�
/��
��#	 ��	 �����	 �
���
 ���	 ����
�


����
��	 �������	 ����������
�����������	���������	�	�������
'��	 ����
	 �
��������2	 ��������
����	�����
������	�	�/�
��	����
�
2	�
����	��
��
����2	� 
�������
��� 
�	 ������	 �����	 �
	 ������
��������

���%�����	�����
�
��	����'�
-���'	 �
	 �������'-�/	 �����
/
�������
��	�
	��/	�
����
���	�	���
���
��2	 �������	 �
����'��	 �/
#���	 �	 �
�
 �	 �	 ����	 �
-���
��������	�
���/	��#�
�����B���
���� ����/2	 �������/	 ��
�	 �
���������	 �
���������	 "�����	 �

B��/	 ������'/	 ���%�����	 �����
�
��� 
��	��������	�	����
(���'
�	������ ������	�
���'��	�	����
������
��	�/	 ��������#��	 �	 ���
���
��
���/	 �����
/�

���%�����	�
���	� ��
��2	 ��
�'�����	�����
����	�	������	� ��
����	������	�������
��	�
����
�
����	 ����	 ��������-�/	 �
��
�
����
����	��	�����
�����	������
AK����C2	�������	�	���(��	�����
��
���������	���
��	���
��	�����
��������
�������	�
����	��	�
���
���
��������	 ������ ����	 ��#��

����/	 �
�
����	 ��
��
��



�����
������
����	��������� ��


	������	�	5<	��	5M	�
'	�	�� !
�
��	�����'����	��������	�
���
���
R�������
	������
������	 ����
%����
#��	 ���%������	 �
������
���	 ���
���/�
����'�

�����	  �����	 R�������
2	 �
���	�
����	����'��	� 
����	�
���
�������	 �����
������	 ������
�'

����-��	���%����
#��	���%���
������)#)�6�9��0	������	�
����
������	 �������
���'	 ���%����
�
#��	 ���%������	 8����
���
�

�)
)�
����0	 �
���������	 �����
���
	 ���
���/�
����'	 8����
���
�
�����	&����������;)�)�
*���0
�
�������	
��
�
�
	&��������
��
�����	�������
	���%����
	�
����
�����	 ���
���/�
����'	 8����
��
��
�
U	 �������
����	 ��������/
�
�����/	 �	 ����� ��/	 ���%���
����/	 ���
���
#��	8����
���
�
�
	 �	 �������

6
	�
���
���	R�������
	����
%����
#��	����	�
���������	
��
��
�����	��'	���%������	������
��E	�����'���	�������	�	�/�
��
����
	�	� �������'/	���
���/�
�
����'	�	�
�
 �	 ������/	���
���
�
#��	���%����
#��	��	�/	�����
���
#��2	 
	 �
���	 �	 �����
#��
���%��������	  ������
	 �	 ����
��������/	�
��
�����'/	 ��	 ����
����'�

�������
���������-��	 �
	 �
�
���
���	 R�������
	 ���������
���%����
#��	�)�)��!39��"��
�������2	 ��	��������	������ ��

$���>� �
���
�>0
$���>� ���
(
�>� #��6� �
���$
�� )*+,-+.��/� *��+01��+
� �2*�
++/*�1�1��

��'	 �����
������	 �������'�����
�����	 �����2	 �����������	 �/�
�
��	�/	����
	��	���/	���
�
/	=6�
�	������'/	%�������
��'	���� �
��/	 ����(����	 �-�	 �����	 ����
���������

)��-�����'����	 ���
�
��
=6�	 ����	 �
	 ������
#��2	 ����
�
���	 ��-���	 ����
	 ����
	 ������
�
��	 �
�
 �	 ���
�����	 ����
���
�
���/	���/����	�	����	�	��(��
���	 ��#�
����/	 �������2	 �	 ���
 ����	 �	 �	 ���
���	 �/�
��	 ����
�

	 ���
�
/	=6�	 ���
���
���'	 ���
����
	���
�����'	�/�
���	 ����
2
���� 
�-
'	 �����	 B������ ��
����	������'�	�	����
�-
'�'	�

�
���������	 ����2	 �	 ���	  ����
��������	)�
	���� 
��	��
�����
������2	 ���� 
�-��	 ������'�
���� ��/	 ����(����2	 �����
��
��������	 �
����	 �	 ��������	 �

�����������	�
�����
�������
	��
�/�
��	����
2	B������ �����	����
�������
���	 �
�����
�����	 �

������ ����	�������/	�	�����
��
��/	 �������	 ����
2	 ��#�
�����
�
-���	 �����
�
�(�/	 ��	 ��� 
��
���/	 ��� 
��	 �
	 ������������	 �
���%������
����/	 �
�����
����


	��	��	����'	������	�������
���	���
���'	����������	��/
����
�
	 ��
���
#��	 ��������-���	 �
�
�����
�������
	 ��	 �/�
��	 ����
�

? 
�����-��	 �	 ����������
�������
����	 ���
�����/	 ���%�
������	������2	�
�
/��
�
2	"
��



�� �����
������
����	���������

������
�
2	 ?�������
�
2	 ����
�����
�
2	8����
���
�
	�������
��2	  ��	 ����-���'	 �	 ���������
�
/	 ��/�� �����	 ���������
	 ��
�
����
�
��	 ��
������	 �� 
�
�
��	����������'	�
	�
�����
�����
�	  
���	 ������ ���'	 �������/	 �
�����
���/	�������	����
	�
����
�����	 ���
���/�
����'�	 ? 
����
����	 ��� 
�	 �
�
����'	 �
	 �����
#�����/	 �
��������	 �
	 �
�� �/
����
/	 7����
'	 ����#����
'	 ���
��-�2	 ��
��
������'2	 ���/�
��
��'	�	����9�	
	��	��	����'	������
��	 ���
/��
��'	 ����
��������
��	 ��� 
����/	 ��� 
��	 �	 �/	 ���
����	 ��	 ��(
���'�

=��������	���������	�	���
��
��	 ���
���/�
����'	 '��'���'	 �
�
�����
������	 �
��������2	 ����
����	 �������	 �����(
��	 �
�����
�
������	�
��������	�����(����
��/	 ���
�����	 6
����
���'
��
 ��������	����	 ���
	���%���
����
����/	 �
�����
���	 ����
�
���������

? 
������	 ���������	 ���(��
�	������2	 ��	��-�������	�
���'�
�����
'	����/��������	�	�������
�����	��������
	���������/	��
�
 ���	D�'	�/	��'���������	����/��
����	 ��������	 ��
����� �����
%����	��	���������	�����������
��������2	 ���	 �������	���������
��	 ���-�����'��	 
�
���	 �
�����
�
������	 �	 ���������	 �������'�
��'	��	������������	�
���������

�	���
�����2	��	�����/	���
�
�
/	 =6�	 ���������	 ���������
��	 �/�
��	 ����
2	 �������������
���	�	(�
�
/	���
���	���
�����'
�	 � ��������	 ���
���/�
����'2

���
���'	�
	���
��	����
	������
�
�� ����	%��
������
��'	�	������
��	�����'	���
��	����
	B��/	����
#�
�������	 L�
	 �������
	 �
���
�������	 ������	 ��(���'�

��O���������	���
���	����
�
���	 �����������-�/	 �
	 ������
%��
#��	 �� ��������%��
����
 ����/	 � ��������	 �
�	 �
	 ����
��	�� 
���	����������'	�
	�
���
���
�����2	 �
�	 �
�	 ���� ����
��������	 ��� (���'	 �������	 �
�/�
��	����
2	 �
�	��'�
��������
������'	 ���
 �	 �����%��
�
2
���������	 ��	 B%%�������	 ����
��������
��	 �
	 �������������
� ��������	���
���/�
����'	��'
�/	 ��(���'�

? ����
'2	 ��	�������	����
�
��'	�������/	�	�����
���/	�����
���	����
	'��'���'	
���
������
��'	 ���/	 ���
����	 �	 ���/	 ���
�
=6�2	 �����	 �
����������	 �����
�
������	������
�'	
��	
�OQ���
����	����
����	������	�	#������
���
������	 ��������'	 ��� ���'
�
����	 ��������	 �
	 ������	 R��
������
	 
���

�����	 ����2	 �����	 
��	 ���
��
�����	�������	�	����/������
���	 �
��
�����	 �����������	 ��
������
�	 %��
������
��'	 �/�
�
��	 ����
2	 ��
����� �����	 %����
��	 �
�����
������2	 ����������'
��������
	 ���������/	 ��
 ��2
��'�
��������	 ���
/��
��'	 �
���
�
�-�/2	 ��'	 �
�����(���	 �
��
��������'	 ���	 �
	 ������	 ��
�
��
���������	 =���������
�

���	 ����������	 ������
	 ���
���
#��	 ���%��������	  ������

��� �����
����2	 ��	�
�
 
	�����



�����
������
����	��������� ��

�����'	 �������	 �	 ���� �����
���
���
#��	 ���%������	 �����

���
	 ����
�� ��	 ��������

��O���������	�������2	 ��	��'
����
	�������
���������	���%���
��
	 ����/�����	 �����
���'	 ���

������	 ��(���'	 �
�
 	 ��	 �����
(����	 �����'	 ��#�
�����B�����
�� �����	�
-�-�������	�
������
���	�	�����	���
�
��	����	�
����2
�������	 ��%���
#��	 �	 ���	 ��
 �����	 ���%�������

=������
'	�������
	�	��'�����
�����	���%����
	$	��� ����	���
���	 �
���
-����

���	 ����������	 �	 ����������

�#��	 �������
	 �����	 ���%����
���	 ������
��	 �
��
'	 �
�
 
E	 ��
���������	���� ����	�	 �����
���
�'	 �
����
�����	 B%%����������
��	 �/	 ���������'�	 =��
	 �	 ���'�
���������	 ���
�����/	 ���%����
���	 �
���'�	 ��	 �������	 �������'
�
���������


	 ������'/	 ��-��	 ��'	 ���
�
=���������
	 �
��
���������	 ���
���
���������	��������	�
	����
�
-����	��#�
����/	�����	�	�
�
��
���	 ����
��
��	 ����	 ���
�����/
���%������	�
�	������������	���
-���������	���
���
#��2	 ���-��
����'�-��	%���#��	�
-���	����
������	  ������
�

L��	��	 �����	 �
(��	 ���
���
���	 �	 �	 ����������'/	 ���������
�����	���
�����/	���%������	?��
������
�
2	 ��������
�
�

�������
����	 S=	 ���%����

�
��������	���
���/�
����'	&���
�������	�
�
/��
�	�)�#)��!,�"�
��� ������
2	  ��	 ��%���
#����
���	 ������ ����	 ��'���������

���%����
	$	����	��	��
����(�/
��������	���	�
����2	������
��
-��	�
��������	 �	 ����������	�
 ����	���%����
�	
	��'��	�	B���
#��������
���	������
��	������
�	 ����
���	 �
	 ������	 ���%����
�
#��	�
�����'��������	�� 
����
��	 ���
�
2	 ��'	 ����-���'	 ��'�
���������	 ������
������	 ����
%����
#��	���%������	�
������
���	���
���/�
����'	�	�
����	��
 �������	 ���
���
#��	 ��	 ��#��

�����B������ �����	 �
-���	�
�
��������	���
���	�	�����
����
/
=���������
�

>
���������	�����
������	����
���
�'	 
��	 
�OQ����	 ���
���
����
���	 �������	 ���
�����/
���%������	 �
	 �����������	 ���
��-���'	 ��'���������	 ���%����
�
#��	�	��	 ������/	���
���
#��
 ����	�
�������
���	A���C2	�
��
��-����	 ��%���
#��	 �
	 �
���

��	�	R��������	�	����
��	
��
A
������	 ���%������C�

��	 ������
����	 ������
�
R���������	���%����
#��	����
����'��	������������-��	����
�
�������'�


	 ������	 �
/������'	 �����
�
#��	 R�������
	 ���%����
#��	 �
!
��	 ���(��	 ����� �	 �	 �������
�
�����	���%����
#��	���%����
���	 8����
���
�
	 #)#)������.
�G��G�)

=����'��'	 �������	 �����
�����'��	��	��'���������	���%�
������	���
�	=���������
	�	���
��/	 B������ ����/	 ������'/�
!���	 ��� �������2	  ��	 �������
�������	 �	 ����������	 ��
���
�
#���
����/	����
���	��
���	���



�� �����
������
����	���������

���	 ���%����
��	 ������������
���	 �	 � ���	 ���������	 �������
��2	 �����
'	 �������	 ���
�����
����/	���/����	�	����(���'	
��
��������	 �	 ����	 �
-���	 �
����
�����	 B��/	 ����
����

=��������	 ��������	 '��'���
�'	 �	 �
���
	 ��	 ����� ����	 ����
�'-�/�'	 �	 ���
���
#��	 ���%���
�����

I����	 �����
#��	 �	 ����(��
���������������	 ��������	 ���
%
��2	  ��	 �����	 ���%����
#��
���%������	 8����
���
�
	 ����
�
�
�	 ����������	 �	 ����������
��8	 �	 
��	 �
	 ��
�
/	 ��	  ����
����	 ���
���
#���	 �
�	 ��
��	 �
�
���	��������2	5M	�
'	5;;<	��	����
����'��	��(����	R�������
	����
%����
#��	 ���%������	 8����
��
��
�
	 ��	 �
�����	 ��������

=����'�
��	 �
���	 ����� 
	 ���
���
#��	 �	 ������������	 �����
�������
	 ���
���/�
����'	 8����
�
���
�����	&����������	
	/���
������	 �
���������	 �������

���
���/�
����'	 ;)�)�
*���	 �

)#)����������	�
���
�
��	�	�
��
�����	���
���/�
����'	�	8����
��
��
�����	 &����������	 !���	 ����
 �������2	 ��	��
����������	����
�������	 ������
��	 �����
�������
���	 ���������	 ���
���/�
����'2
�	 ���	  ����	 ������
�	 �
� ������
������
�������/	 ����������	 ��'
��
�
��'	�
�������	��������
���
%�#����
����	 �����
����	 �����
#������	����-�2	���� 
'	���#��

�������
�����	=	5;;4	��	�	�� ���
��/	� �������'/	�
���-���	��
�
�
���	 ��
���/	 �����2	 �������
����	 �������	 �
�	 �������
'

���
�	
	����������	���	�
�������
�����	��	�
�
������	��
��	�
����
���
�	 ���
���/�
����'�	 �����
���������	 ���������'	 �
����
'
��
�
������
��
'	 �������
	 #���
��
���
#��	 �	 ��#����
���
#��
���
�����'	���
�����	!���	�����
 ���2	  ��	 �
���
	������
�
	 ����
�������	���-�����'���'	�	������
����
���	 �	 &��������
�����	 ���
�������	 ���%����
	 �
��������
���
���/�
����'�

6
	 ����� �	 �����'��'	 �
�����
�����
����	 �	 ������
�������
�����	 �����'��	 �	 /���	 �	 �����
������
/	 �
�����'	 ���
���/�
���
��'	 �	 ���
�
/	 =���������
�

=����'�(���'	 �	 !
��	 R�����
���	���%����
#��	���
�
�	
����

�������	 �
����������/	 �
	 ���
�
���
���	��������2	�������	�
�
���������
������	 ���/	 � 
�����
���	�	�����������	��
�����	���
�����/	 �
���
���	 �	 (������
� 
�����	 �	 ��/	 ���%��������

����
	 ������
�-��	 ���
���
�������������	 ����������	 �
�
���
��'	 ��	 ������	 �����������
�
�
	 ����(
'	 ���
���
�����
'
�
���
2	 ������
��
'	 
����
���
�
������	 ������
��	 �	 �� ��
�������
�����	 S�	 ���%����

;);) ;H�"����G��

������
���	  �����	 R�������
�
	 ������
������	 ���%����
�
#��	���%������	�
��������	���
�
���/�
����'	 �	 8����
���
�����
&���������	 �	 ���	 �
���
	 (�����
����-
����	�	�������
/	�
������
��%���
#���

�
�1�  �
+*+1�+
3
���������

��
 ��������	
+��



����� ��
�����	
�����
�����������

КОММЕНТАРИИ  •  КОНСУЛЬТАЦИИ •
РЕКОМЕНДАЦИИ

������� ;������8�#���
���#��
�#���I

��
������ ���#��8����
���@�##
� 4�������
��%

,����
 �
 +����
����
��
 
���
�#������������
��
%���
"��!
 ������������
 -.
 ������
 /001
 &�

�
 $�
��#����� ��&��
 ,��
��
��!
 
�����
 �
2
 --

4)����=��*2	�
�����-��	�
���
������	�
�����/��'����������	����
��������
��'	 R�������
	 �
�����/��'����������	 �����������
��'	 &86
� ��
��2	  ��	 ����/��������	 ����
��'	KL�	� �����
2	 ��	 ��
	 ����������
������2	  ��	 ��-������
�(��	 �������	 ������
#��	 ��	 ����	 ����
�� ��
B%%��������	 6����	 ����� ����	 �������	 �	 �
(���	 ��������	 �����2
���'��2	 �� ���	 �������	 �������	 ��	 ��
���
���	��	 �	 �
��(�	 �
���
�
����	�
������
#���	�
�����
�������2	����������	����
����	����'�����'
�
	����	��'����	��
����������'	/��'��������/	���3�����	�
(�/	���
��
R	 �����
��	 ����	 ��	 ���������	 �
	 �������
��2	 ��	 ������2	  ��	 �
	 ����
���
�����	 =6�	 ������
�
��	 ���������
#������	 ������#���	 D��'	 ����
��������	B������
	�	?��
���2	!��
����	�	�
�
/��
�	����
���
��	�
	,	���
�	0M25	��	05$04N�	=���
���
��	�	���'	������
	&�����	�	5<2MN	�	0..1 ��
��	 0.2,N	 �	 5;;5���

6
(�	 �������	 �
����	 �	 ���
���	 �
������
#��	 �
�����
�������
	 ���
����	 �	 ������	 ��	 ���������/	 B������ ����/	 �������2	 ���'-�/	 �����
���
�
���	 L��	 �����	 �����
��	 ��� 
�2	 ���
����	 ����
���	 �
	 ���������
��� ���/	�������2	�������	�������	� ����
��2	�������
'	�	B���	�
�����

0�	 
	 ���
�
/	 =6�	 �����/����	 B������ �����	 ����2	 ��	 ������	 ��
��'�
�	 �	 �
�������	����������	 B���������	6�	%
�����	����
	 �	&�����
�	 ��������	 �� ���
��2	 �	 ����	 ��	 ����'��	 �
��/	 ��������/	 ���2	 ��	 �
&�����	�	����
�(��	 ����	����	�����
����'2	 �����	 ����2	 ��������	B���
���� �����	 ��
��	8	 B��	 �����	 �����	 ���
������	 ���'���	 �
	 B��������
�����/	 ���
��	 R�����
#�'	 $	 %
����2	 ����'������-��	 B�����	 ��	 �
� ��
�
�2	�
	� ��	������
#�������	%
����
	

�2	��������2	����� ���'	�	���
������	 ����'	 ��	 �����	  ��	 �
	 01N	 ���	 ��� �/	 �
���/	 ������'/�




	
�����	���

����	�������

�
������	���



5�	)�������	��������	��'���	�����	�
(���	���
�
��	'��'���'	���
��
���	B�������������	�	������	�����	����������	����
���	��%��	�	�
�
�
�����������	�
�����'	 B��/	����
���	 ��	������	�����������'��	 ����(�
�����	 ��(���'	 �
�
 �	 ����
��'	 KL��	 )��
��	 �������	 � ����
��2	  ��	 �
B���	�%���	�	����
�(��	����	�����	����������	���������	��������2	���
�����������	 �
�(�����'	 ���� �	 ��%��	 �	 �
�
	 ���
�� ��
�

8	�	��'��	�	�
�
 ��	�������'	

�	�	&�����	�����	����
����	����������
�����������	���
���	K���	���	B���	����
����	B������	��%��	�	�
�
	�	���
�
��	�
������	�
������'2	��	���
��	KL�2	=6�	�����	����
�����	�	�������
������'�	 ��B����	 ��
����	 ��-�������	 ������
E	 ����	 ����	 ��	 ����	 �
���
���(���	 ����
	 B������
	 ��%��	 �	 �
�
	 �	 ���
��	 �
������	 �
������'2	 ����
����������'��	 �����������	 �	 �������	 ���
�	 =6�2	 KL��	 ��	 �
(���	 ����
���2	 #��������
���	 ����	 ������	�����E	 ���
�� ���	 �
�����(��	 ����	 B��
�����
	�����������	������
	�	���
��	�
������	�
������'2	����������'	���
��
-����	 �������������/	 �����������	 �
������	 ���� ��	 �����(�����
������(����'	�	�
���'-��	����'	����
�����	��������������	�
����	���(�
�����������	 �
�
��
	 &�����	 ��	 ���
�
��	 �
������	 �
������'�

4�	6
(�	��
�����	��'��	������	����	�
��
�����	�
	�
������	����

������#��	 ���
�
���
�-��	 �����(���������	 ��	 �
(��	 �#���
�2	 B���
����	������#��	�
(����������'	�	���
��	KL�	�����	����
���	�
	���'�
�������	 ��	 �����	  ��	 �	 021	 �
�
2	 
	 ������	 �	 &�����	 ������#��	 ��	 B��/
���
�	 $	 �	 524	 �
�
�

<�	

����	���������	����
��'	KL�	'��'���'	�����������	���������
/��'��������/	 ������	 B��/	 ���
��

1�	 6����	 ���
�����
��	 ����������	 �
��
�����	 �������
	 ��#�
�����
B������ ������	 �
�����'	 ���
�	KL�	��	 5;0;	 ��	 �	 ��������	 ���	 �	 ������
�
�����(�/	 �
���	 ��	 ����
���	 KL��

�
�	 � ��
��	 �
���������	 �����
����������	 ������
�'	 =�������	 �����
�
����
	!��
����	�	&�����	�)����3���2	��������
	KL�	#��������
��
	��
������	 ����
��E	 .;N	 

�	 ���
�	 =6�2	 .;N	 ��
�����	 ��������	 =6�	 �
�� ��	 +;N	 �
������'�	 
��	  �����	 � 
�����
	 ������
����	 ��	 ��������
�
�
����
�	 ��#�
�����B������ ������	 �
�����'�


��� ����	?��
���	����#���
����	�
���	�	�� ��	�����'	�
���
��'
��
���������2	B������� �����	��%�
����������	R�����	���� ����	?��
�
���	'��'���'	�
�
����	����
��'	KL��	6�	����	��	 �����/	�����
����	��
�����	��'�
�������	�����	������
�������	���
���
#�'��2	�������	����
��	 ��	 ����'������
��	 ����
���	 KL��

���	%�������
���	����
������	�
��	KL�	�
���	���������
��	����2
�
���������	�	=������	�����
�����2	������ �	���������	A������C	�	�
��
�
�����	�	%�������
���	KL��	"
�	�
���
��
'	�
�����������
'	������
�
#�'	 ������	 A �������C	 ��������	 �	 ����������	  ����/	 ����������	 ��
������	 ������
�2	 ���� 
'	 ����	 ���������	 ���������

���
	���	 ��(���'	 ������
	 �	 �������
#��	����#��	���	 ����������	 �

")�	 J� (�	 �����
��	 �	 
")	 �����	 �����
����
��	 �������������

6��	 ��������� ��	 �����	 
")2	 =6�	 �	 ����	 ���
���
��'��2	 �������
'��'��	����	���
��	=6�	$	�
���
	����#�'	 ���
	=����
	:����
#��	&���



�����	���

����	�������

�
������	���

 
�

�������	:����
#����)�����J����	? 
������	KL�	$	B��	����������	�����
�
����
2	�������	�����
��	��
��
���	
")2	� 
������	�	�
��
/	�
������
���
	 �	 �������� ����
	 �	 K=�	 6
(�	 ���
��	 ������	 
��
����2	 ���	 ������
�
��	���	 �
	 �����������2	 ���	 �
	 ���
�������	���������	 ����/	���������
R	�	B���	�� ��	�����'2	��
����������	
�
���	���/	������E	K=	�	&����� $
�	�����	�������2	�	KL�	$	�	������2	���
���
��2	 ��	� 
������	A �������C
���(��	 ��
 �������	�������	 ����	����	 �	�����������	������ ����/	���
(����2	 �
��
�����	 �	 ����'��'	 ���
�� ���	 ���#��#��	 �	 ��
�
	 ��������
��/	 ���������

R�	 B����	 �����	 ����
��	 �����2	  ��	 ������'	 �
������	 B������ ����/
��������	�
	���
�������	�	�����������	������
����
/	�������
�
��	��
�
�����	 ����
-����	 B��/	 ��������	 ������	 ����	 ����
2	 �	 ���	  ����	 �	 �

������	 �����������
������	 K���	 ��������	 �	 ����������	 �������������
�������� ����
	 ��	 ��-�������������	 B������ ������	 ������
�����	 &:
�	K=2	��	�������	�
�������	���������	%
�����	R��'	����
��'	�
����	��3��
������'	������ 
�
	55	�
'	5;;5	��	�	������	��	���	����"��������	R��'
���
	 �������
�
	 ����������	 ���������	 !���	 ����
��	 �����
	 ��������
�����'2	 B���������	 �������

L�
	 �
���
	 ������
	 �	 %�������
���	 #�����	 �'�
	 ���#��#���	 )�-��
�����������	B������ �����	������
�����	������
��'��	�����	��	 ��	����2
�
�	����
(����	�
����������	�������� ����
2	B��	������	���
	
")	������
�	�
�(�
�
/	���������
�	"
�
'	���#��#�'	����
��	������
�����	��'	����
���������
���/	�����(�����/	����(����	�	�����������	����������	�
��#�	 K=	 �	 &������	 
����������	 ��
������	 ���������
��'	 ������������
������	 �
�2	 ���	 ����	 �������
�	 !���	 ����������	 �
���	 ������������
�
��
�����'2	�
�	���
���
#�'	����
	������
	���
���	�	�����2	�
������
�
#�'	 �
�����
�������
2	 ����(����	 �����'	 ��������	 �	 �������
#�'	 �����
���#�����/	 �����
���	 
	 �
 �����	 �������/	 ����	 �
��-���	 �
���	 ����
����2	�
�	��/�
��������	� ��2	
����2	��
��
���2	��/�� �����	������ �����
R	�	���#�	���(����	���
	�������	��(��	�
	�����	(������	������	B��/
��������	 7������ �����	 ����� �����	 �
�����2	 �����(��������2	 ������
���#�'2	 
��������������	 �
�����
��������	 �	 ���9�

�
�
����	��2	�����	������������	�#����
��	�
�����	6�	B���	���#���
���������
��'	 ��'�������	 ��������� ��2	 �	 ���	  ����	 �	 ���3���������
/
�
����
2	�������	� ���	�����	��	�
���(
�����	
	5;;5	��	K=	�����������
��	��3'��'��	�	�����
���	&�����	���
���	�	���� ���	B���������	�	�	��
��	����'	�
����
��	��/
����	
�������������/	���#����2	�������	������
�'�	 �-���	 �����	 01;$5;;	 ����	 �����	 D������	 ��
��
���	 ���'������	 �
���/��
/	�	B������� �����	�%���	7������
���	��
�����'	���������/	#��
�	������
�������9�	) ���	 �������
'	�������
	$	 B��	����
�	 ��	 �������
K=	 ��	 �
�������
�����	 �
	 �����	 ���
��� ����	 �
��%��/2	 ������/	 �
�����/	 ���
�� ����2	 �������	 ���������	 ���	 0;	 �����
�-�/	 ���
��	 L��
������
�����	��
��	K�����������	=���
2	��	���	�����'	���
�
��	�
	����
���
������	 ������


	�
����	��	����������	��
����/	
����	��'	KL�	�
���	���������
���
�'	������������	D�����	������
���'	�����	����� �����	��������	

��
��	 �����	 �	 ����2	  ��	 ���#���	 ����
���
#��	 �
������	 �	 ������
������
����� �����	 �������2	������
������	 ��
���	�����������	�
�����'	 �
�






�����	���

����	�������

�
������	���



#���
������	 �
�����
�������
	 ���
�	 A �������C	 �
����2	  ��	����������'
����(
'	 ���������������2	  ����	 ���	 ������	 ���� ���	 /
�
�����

��	�����	�	�
 
��	���#���
2	����
	�����	������
���'	������
������
�
�����
��������	 �	 ����������	 �
��
#���
����/	 ��/
������	 �	 %�����
��������	
	��
���	<	=���
(���'	���������'	�
����	�	����
���	�
��
#���
�
����/	 ���
���2	 �	 �	 ��	 ��	 ����'	 ���
���'	 ��
��
	 �
	 �������� �����	 �
K=�	
	B���	����	������������	��������� ���	D���	�	���2	 ��	���
��	K=
��	 ,1$+;N	 ����/	%���#��	 ���	 �����
��	 �
	 �
����������	 �����������/
���
����	 6�	 �
��	 ��'���'	 �
��
#���
����/	 ���/����2	 ����/�����	 ����
�
��	 �'�	 ���
���
#�����/	(
���	 �	 B���	 ����(�����

>
���������	 �������
	 B��������	 &���������	 !��
����� 
)� �!�� �����
���	����(
�-��	����	�	�
������	���� ���	 B��������	�	 �
����	 ���
��
���
� ������������	 ��������	 �	 
���������������	 �
�����
�������
�

 �
��
/	 �
�� ��	 ������	 KL�	 ��	 ������������	 ��������	 ��� 
�	 ���
�
�
���
���'	��-
'	�
�����
�����
'	������	��	B����	��������	>����	�
���
����������	 ��������	 �
��
�����'�

&� �	����	�	�
��/	������
/2	�
�	��������������2	���
�� ����	�	����
�� ����	����������� ����/	��������U	��'�
�����
'	�����������
#�'	���
�
���/	������U	����� ����	����������������	��������#��U	������ ����
��
�����	�
-�-�������	��������������	��������#��2	����������	�
����
���	��������#��	�
	���
���/	����
/2	��������	�
	B������ �����	������
���#���U	 �����(�������
���	 ���������
��'	 �����������/	 ����������

6
��	 �����������	 �	 ������	 ������	 /��'��������/	 ���3�����2	 �
���
�
�-�/	 ���������-��	 ���������	 �
	 ���
���/	 ����
/�	 )���������	 �
��'����	 �����������	 #���	 �	 ����� �	 ���������	 
���������������
����
(���'	��	#��
��	���������	�������
'	�����
���
#�'	/��'��������/
���3�����2	 �
���
�-�/	 ���������-��	 ���������	 �
	 ���
���/	 ����
/2
����/����
	 B��������
	 ����������	 ��	 ����
���	 /��������	 �	 ����

)������������	������
��	!���	��8	K��8�L=	
)����G+����������
����/��������	 ���������
��'	 ����
	 ��	 �
������
#��	 �
�����
�������
2
�
����������	 �	 K��8�L=2	 �	 %�������-���'	 KL��	 "
�2	 �	 K��8�L=	 ��
��������
#��	����(��	�	)����
�	�
�����
�������
2	�������	�����	�����
��������	���#�����	�����	��
��%�������
���'	�	��'���	������	
�����
�
�-��	 �������'	 �������	 ���������'	 �	 
")2	 �
�����(��	 �������
#��
��������	 �	 �
��
/	 K��8�L=�

A��
�����	 ������ ����	 ���#���
	 %�������
��'	 KL�C	 $	 �
���
	 ���

���
	����������'	�
��������'	��������
	R�������
	B��������	&86	#���.
��"�)�)����� ��
��	%�������
���	KL�	�����	 ������	 ���	 �������2	 ����
���#���	 �
	 ����	 �����	 �������
���'2	 � ��
��	 � �����	 ���
	 ��	 ��	 ����
������
�� ��	B%%�������2	��	��
����	����	��	 �
�2	�
�	/�������	���	X��'
�
��	 ��(����	 �	 ����
���	 KL�	 ���������
��	 �����
����	 �����
����
��
����	 %
��
2	  ��	 �	 �����������	 ����	 �/	 ����� ����	 �
������	 �
��� (��
���
���	 �����	 ����	 ���-��������	 ������	 �	 �
��
/	 �������	 ����
�

V����	���
���
��2	 ��	���	��������	B������ �����	���
���
��'	����
���
��	����	������	 ������	 ��-������-���	�����
	 7�������9	��������



�����	���

����	�������

�
������	���

 
�

�
�����'	7�
������2	=P82	>
�
����	K�����92	���	����-�/	�
��/	�����
���	 7�
������2	���
'9�	)����
	�������2	 ��	���
���
���	���������	��-�
�����	 ������	 =6�	 �	 �	 �
�(�
�
/	 =6�	 ��������	 ������	 ������	 �
�����
��	�
����	����-���	�����
�	K���	���	��	�����2	��	���������	���
��	=6�
�����	 ������
��	 �	 ������	 ��-������-��	 #����
��	 "��	 �����	  ��	 ���
��
�� 
�	 �	 �
�����	 �
����	 �����
��	 �
	 >
�
��2	 
������	 �	Q���

D
���	 ������
��	 ������E	 ���	�����	 ����	 �������	 �	=6�Y	������
��
�'���'2	 �/	 �����	 ����	 ��
E	 ����	 &�������
'	 :����
#�'2	 ����	 '���	 ��
������	 ���
�	 ������	 =6��	 6���(�''	 A ������
C2	 ����
��'�-
'	 KL�2
� ���	 ��/��
	 �
	 ���������	 '����

6�	���������	�	��
�
	B������ �����	��
��������	���	�����	�
��
��
��	�����������	��3�������'	�����
	����	&����'�	R�	���/	�����
����	��

�
�����(��	 ���
���	 �
���������
�
	 �	 KL��	 ������	 ������	  ��	 &:	 ��
������	��/�
�����'	�	������ �����	�����������	�	�
��
/	��-������-�/
��
��#2	 ����	 ��
	 �
�
	 ��	 ��
���	 ���	 ������	 ���	 ��	 ���
�����'	 ����	 ��
�������	��������	�
�����'�	�	���
�����2	���	B���	�������	�	&:	���'��
�'���'	 � ���	 ��
���	 ��� ��
	 ����2	  ��	 %�������
���	 KL�	 ����	 ��	 �
�2
�
�	/�������	��2	��	������	�
��� 
���'	�	&:�	��� ��	������'	�	����	��
������ �����2	 
	 B������ �����	 
�����	 ���������

�
���	 ���
���	%���������'	 KL�Y	������	 �����	 $	  ����	 �������
��
(�
����	��������	K���	������
#�'	����
	��'	�������
�(�
�����	�����
���#�������	 ������
2	 ��	 ��	 �
��	 ��������	 
��	 ���
�����	 ����� ���	 6�
 ����	 ���-�����'��	 �������	 �������#������	 �������2	 ��������	 �����
��'	������	����2	�
�	�������2	,$+	���2	
	�� (�	0;$01	����	8	 ��	������
�'Y	 
	 �
���	 B����	 ���
	 ��
����������	 ������
��	 �����
���	 ��#�
�����
B������ ������	 �
�����'	&:	��	 5;;,	 ��	
��	 �
�	�	 ���	 �������	 $	 4	 ���
W
R	�	 B���	�����
���	���	��	 ����
	 �	KL��	
	&�����	���	�	 ���
�����	 ����
���������	�
�����'�	8	�
�	B����	���	$	��	�����	��������/	B������ ����/
��������	 �	 �	 KL��	 R	 ��B����	 ����
���	 ��
�����	 �
��	 ���	 ���������
I����	 B��	 ����
����2	 �����	 ������������-��	 ��������	 ������'2	 ��	 ���
�
�� �����	 �����	 ��������	 ������2	 �
��� ��	 ��
����

D����
�	�������	&:	�
���������	�������
���'	�������
	��	���
���
�
���	�	�
���	�)����"��������
�
�
��	�
	%�������
���	�������	���
���
�
��������	 ������
����
2	 
�������	 ����������	 ��������	 '���
	 �
�	 '���

����
#���
������	 ��-���'2	 �
	 ���������	 ������������	 �
�� ��	 �����
!��	��(���'	B��/	��������2	��	������	�����
�
2	�	KL�	��	�����	���
���
������������


	����'���	�
	 ���%����#��	)��
-����	 �	 �
��
����
�	�	��
�������
���
�	�����
����	$	� 
�������	=���
(���'	�	%�������
���	K������	B���
���� ������	������
����
2	�	=�����	����
��
��������	8��
�����	�����
�
����	$	� 
�������	=���������
	6��
������/	�����
����	�������������
�'	 ��(����	 �����������	 &���������	 !��
����2	 &���������	 �
�
/��
�2
&���������	:����
#��	 �	 ?��
���	 �	 %�������
���	 KL��

=���
(����	������
��	(������	�����������	��'	B������ �����	������
�
#��2	����
��'	�
 ��������	����/	�������	��'	��
��������	�	B%%���������
�
�����'	 �
#���
����/	 B�������	 �	 ����(���'	 �����'	 �����	 �
������'�




�
�����	���

����	�������

�
������	���



? 
������	���%����#��	���
����	����������	����������
��	����2	 ���
��	 �����
����
	 ����-���	KL�	��
��	 '����	 B������ �����	������
#��	�

�������������	������
������	��	������	���%����#��2	����	��	#��������
�
���	�	� 
�����	������	��������	�����'	�
��
���
��	�	5;;<	��	�
��
�����
����	 �����
���	 ��
������	 ������ ���'	 %�������
��'	 KL�2	 �
��
�����
���	�
	 �
������
#��	�
#���
����/	 �
�����
��������	���%����#�'	���
�
���
��	�	=�����	��8	=6�	�	������������	���
���
��	�����������	������
'���/	��������	��8	�	#��'/	�
��
�����	��
�����	�
��2	�
��
�������	�

������ ����	 ��
���
#��	 =���
(���'	 �	 %�������
���	 KL��

#��*�:�����"��2	������'	�
	���������%����#��	�����	�����'�(����
�'	�������'��'2	 �������	 �
������	 �	 ��
 ������	 ���%����#��	 ��'	 �����
�
����	 A �������C�	 A��	��	������	��������	�������	���/�����
#��	 �
�
�����
������/	 �
�	 �	 B�������	 �
(�/	 ���
�2	 ��	 �	 �����'����	 �
(���
�
��
���������	 �
���
��	 �	 �������
��C2	 $	 ��
�
�	 ���

���������	
�� 
���
����
�������� 
� 	��	������� ���


��� ���� �� �	
�� �� �
���
������ ������� ����	�� ��
����� ����
���
��� ����
�

�� ����
���� ���� �
���� 
� !�	��"��

� #��"����
�� $� "���
�
���� %�#	����
�
�� &���
�����

� '�
��#�� (�����
�����#�� ����
����
��)


�������� ������� ������� 	������ ���������� �� ��!��"� �� 
��#�����
��#�$��#�� �*�"�
	
� �	��� ��*�
�� �� 
���� �
�*�� "+�� �� �,,-$�,,.� ##)� ���#�
��
�

/� ������� ����
� ���"���
���� ����01
 ��� 	
*���	
���

� 
��#��	
�� ������
���
�� ��#	���������� ������
��#����� ��	


�
�� &���
�����
�� �*1�#�� 
����
+����#�� 
��
&�� 
� ��
���� ����"���
���� ������� �� 
��+�� ������
�� ��
��#�
��#"	
�"01�#�� ��#���)

2�  ���� ��(
������ 
�
�#���

� �
������ ��������� �����
/� ���"� ���*�����

��#��	
� *��� 
�3�

�� 
� �#���
���
�4� "�
&
�
����
/� ��
��
��� �����*�
�
� 

��
�����
�� 
� �
����
 � ��#	����
��� 
� �
�����
��4� #�����
�
����
/� ������
(�����
����"0� ��	


�"4� �&���
����
/� ��
���� ��
��
��� ��#"	
�����
�
���
�	/���

� ��
����� � ������	
�� 
� ����"���
���� ��	


�
)

5��	


�
���

�0
�
��������
����
��'67�*����������
���
)�%�&����	�
�,,8� #)� "��	��/� ��� 
�	/��� ��#	�����
/� 
� ����
��
/�%�#	����
��� ��� 
� ����

�
����
� �
� ������ ��

&
�
����
/� �#�)

%�����
�� '67� ������	�#��
� �����*�
�"� *�	��� 9,,� ���	
��� � ��#	����
�
�)� 6
�� ����/� *�	/���� 
� �"#"*�� ���&���
���	/���� ��*�
�)� %
������ ��#��
���
	
�/������&
����
�����

�� ��
�	����

� "��
 ����&���
���	���� ��
����
�� ������ �&���� ���#�
���
� ���* ��
���� ���"���
�)� 7�
��� (

� ��#	����
�
�����"
����������
���
��(�����
����
����	��(�����
��#�����	0���
����
�*"�"

"
���+����� ��� 
��� ����������� :�"���� ������#�� "�����)

;��

����
�����

����	
����&
��
����	��������
�������#��(
����&���
�
�����
��'�
��#�� (�����
�����#�� ����
����
��� 
� ���� ��� ��� �
����"�� ����

�
������")



�����
����� ��
�� 
������	
�����
������������

���������	
�
�
�
�


���/��'-��	�	�
���'-��	����
�'	 ���#���	 ����
���
#��	 B�����
����	�������	�
������	���	
�����
��	���%�������	�
����2	���� 
'
��
�����	 �
��� ���'	 �
��%��/
����
(����	 �	 ������������	 ��
���/	 ���
�
/	 �	 ������
/	 ���
2	 �
���	  ����	 �
������	 �
�����/	 �
B������ �����	 ����(����	 ���
�
���� ���	 B��������2	 ����	�����
��/2	 ���
���'2	 ������
��'��	 ��'
�
�	 �����������	 ��������

)���������	���
���'	�'�	����
���#��	������
������	���
���
�
#��	 ����
2	 ����'-����/	 �
����
�������
����2	�	�	������	� �����
*	.+	 7�	 ��
��	�
	 ���
���
#��	�
�������	 �����������/	 ���������
���92	 *	 041	 7�	 ������
�����'/
����'-�/�'	 �
	 �������'��'/92
* 01<	7�	�����������/	���������
�
/92	*	01+	7�	�����
-����	����
����/	����(����	��	���#�
����
����������
���'9�	 �	 �����2	 �
������#��	*	01+	�������������
���
�� ����	���������'	��� ��/
�������/	�����
����2	�
	�
��	���
����/2	 �
������2	 �	 R��
���	 �
�
���
��	 442MN	 ����'-�/�'�

����
������ (
��68���%
�
��4�< � #�&�
����5

�� ����������< � ��&������
�� #��
�
 � �
(����5� �<��8��5

;��������
L��	 ������#��	 �)"2	 �
	 ���

��� �����	 .+��2	 �����'-���'	 �
 ����	 ���������
�
�-�/2	 ���

��	 �
��%�#����
��	 ����(���
�����	���
�	=6��	"
�2	������#��
*	 041	 �
��%�#����
��	 ������
�
�
/��
�	 �	 ������
2	 *O01<	 $
!��
����2	������
2	?�������
�	�
?��
��
2	 *	 01+	 $	 ������
	 �
?��
��
�

)��
��	 �	 ����'���	 �	 0..+	 ��
D���
�
#��	 ��	 ���������
�
��
-�/	����#��
/	�	��
�
/	�	�%���
����
	�
���
��2	 ��	A���	�����
��
���
� ����2	�
��	����	���	��	�
�
��%�#����
��	��
�
����	�������
#��2	�����	��'�
��������2	�����
�
�-��	��	�
����	%
��
	 ������

�	 )��
���
#��	 7Z[\92	 ������
�
��2	����������
��	����������
�	�������'��	�	�����C	��	�������
#���


	 �
�	 5;;<	 ��	 
��	 �
��
���

����
��
��������	8��
�����	���
���
����	$	� 
�������	=6�	�����
�������	 �����
��	 �
��
�����
���
�	 =���������
	 �
��%�#����
�
��2	 �	  ����	 �����/2	 ������#��
*	 041	 �	*	 01<2	 �	 ��	 �
�����'2




� �����
����� ��
��

� ����
'	 �������-��	 ����2	  ��
B���	 ������	 �����	 ���	 ����(
��


	 �
���	 5;;0O��	 
��	 �
����
�
�
	 �
#���
�����	 ���%#����
�
���
�	 =6�	 &�������
#��	 �)"
��	�������	�	�����������/	����
�
(���'/�


	 ���	 �
%�������
��	 �
���
����#���2	 �
�E

�/�
�	�������������	��������
�������'���	���/	%���	���������
�����U

�����������	 ������
��'	 �

�����	 ������	 ������	 ����������
���2	 ������
-�/	 ������'2	 �����
��������	����'-���'2	 ��	�	����
��������/	 ����
(���'/	 �����
��������	 �����'U

��
����������	 ������
��'
�����������/	 ����
(����	 ���
���%�������	����
�����	�	���
�
��	���	�
	�������'���	����	����
��	 ���%���
���
#�'��2	 ��������
�-���	 �
	 �
����	 ��3����2	 ����
�������(��	 ��	 ��/U

�����������	 ���(
�������
	 �
����������	��	�������	
�����
��
��/	 �	 ���/	 �������/	 ��������
��(�	 �	 ����� �������/	 ��� 
'/
�	������	�����	��	������	����	�/
� 
��������

����/��'	 ��	 �	 ����������
������
�	 �������������	 ��
����
��2	�������	��������2	 ��	�	�
#���
�
����/	�
��
/	������'	��������
��	 '��'���'	 ����
(���'2	 �
����
 
����	 �
	 ���
������	 �������
)�-��
#���
�����2	 A�����
���
���C	 �������������	 ���������2
�
�	 ��
����2	 ���� 
��	 �	 ���'
��(�	 �
���	 ��-��	 ��������'
����#���
������	 /
�
����
2	 
2
��
���2	 �������	 ���
��	 �	 �����
���	 ����
	 �����������'	 �	 ���
��

����/	 �
��%��/	 ����
(���'/�
��� ��	 �	 ��������/	 ���
�
/
7� �������2	 �	 =P89	 ����-�	 ��
��-�������	 �����
����/	 ����
�
(����2	 �	 ���%�����	 ��� ��
������������'	 �
	 �
��������
A��������C	����������	7�	��/	��
=P8 $	 �����	 ����
����	 AD���
���
�	 ������C	 �	 )�3���������
������	 
�������������������9�

�����	 �	 ���	 �	 ��������/	 ���
�
�
/	�	�����
�����	����
(���'	�
�
�����
���'	 �����
	 �
����	 ����
���	 $	 �
������2	 �	 :���'����
���	�	��
 ��������	����	�������
�'���'	�������	���%�������	����
������	 A��������	 ��/����C	 ��
�
���������
�


	 ���������	 ����	 ��	 �����/
���
�
/	 �
�����	 ����������	 �
�
�����
�����2	�
 
����	���������
�
���/	�	B���	�����
����������
���
�
��2	 ��	 �����������	 ����
����	�������	�����������/	�����
�������2	�������'	#����	�/	�'���
���	 �
	 �������	 �������	 7����
�
���2	�������'��'9	�	�
�����2	 ��
�
	 ���	 ��	 ��� �	 �����	 ����� �
���
������	 
	 ����
���	 �	 =�
��
���
���	 �	 5;;4	 ��	 �����
����
�
����	 �������	 �
�������	 ������
���	��
�����	 �	 �
�����
�������
���'����



����	 ���
���'	 ������	 �
���2	 ���	 ��	 �������	 ����'-�/�'
�	 ��	  ����	 �����	 �
��� 
��	 ����
���������	 ����
(���'�	 >����	 �
�
�����/	���� ��/	���
�
/	����
���'	 ��
	 �
��� ��/	 ���/��
�

������	$	�������'����
'2	���

������
������
'	������2	���	���
�����	 �����������	 �
	 �������'�
��'/	 7�	 ����
��'/9	 �
��� 
��
���%���
���
#��	 ��	 �����	 �����



�����
����� ��
�� 
�

��	 ����/	  ������	 L��	 ���������
������	 �
���	 �/�
�	 ����'-�/�'
�
�	 ����������
��2	 �
�	 �	 ���%�
����
���	 
	 !���
���2	 �
������2
�	 ���%����
/	 �����'�	 4<N	 ����
�'-�/�'2	 
	 �������������	 ������
���	 �/�
 ���	 <,N	 �
��������2	 �
�
�
��	��������������	$	4+	�	4M2
=P8	 $	 0M	 �	 0+2	 ]�����	 $	 5<	 �
50N�	 ���	 B���	  ����	 ���%����
���2	�
	������/	������	�	�
�����
���
�'���'	��������	����������
2
���� 
��	 ��	 B����	 ����������
������E	�	���������	����	�/	�
��
��
�
	���
	�	�������	�
	0<M	�����
75;N9	 �	 ������	 ��(�2	  ��	 �	 ���
 �����	 ���%����
2	 ������(�/�'
�
	 
�
���� ��/	 �
�� �/	 ����
/�
L��	 �������	 �	 ���
���
���	 ����
���	 ���������	 �
��������2	 �
�
��
���/	 A�
��������C	  ���
��
���%������2	�������2	��	�����
'
�	���%���
���
#��2	�����
��	��
�	 ����������	 %����	 ��
��	 �
�
��� 
��	����������	�	��	�/	����
��2	���	�������	�
�������
����'
�
	��/	���	�������'�	
	!���
���
������
���	 �����
��'	 ���%����
�
	 �
�������	 �
	 �����������/
���������
/	 �
	 �������'���
7� ����
���9	��	�
�	 ��
��������
��� ����	 �
�
�������


���
'	������	$	��
�����
���
�-
'2	 ���	 ���������
����������
�����
'�	)�
	�����
�
	�
	���2	 ��
������������	 ����
(���'	 ���/
�������	 �
�������
�'���'	 ��
������	�
	 �����	���%������2	��
�	 �
	 ���/	 ����'-�/�'�	 ��������
�
��	 �������������	 ���������
��	�����
	���%���
���
#��2	
	 �
�
 
����	���
��	� 
���'	����'-�/�
�'	 �	 ���
������	 �������������2
�����
����	�	�������/	���������

�
/	 �
������
��	 ���	 �
��������
��	 ��	 �/	 ���% ������
�	 
	 A��
��
�� ����/C	���
�
/	B���	������	$
����
���	�	8������	$	���
������
�
��%���	����
(���'	�
��� 
��
�	 �
�����
���'��	 ���%�����2	 

�����������	 �
	 �������'��'/	 7�
����
��'/9	 $	 ���
��	 � 
���'�

L��	 ��������	 �	 ����2	  ��	 �/�
�
�	�������������	��������	�����
�
	 �����2	 �
	 �	 �	 ���%����
/
�������	 �������	 ����(������
����'-�/�'�	
��	 ���������	 #�%�
��E	 �	P��#��	 �	 ���%�����	 �/��
�'�	 +0N	 ����'-�/�'2	 ����������
�
��	�/�
 ���	+.N2	:���'���� $
+0	 �	 .12	 ����
���	 $	 5.	 �	 .5N�
��� ��	 �	 ���
�
/	 ���������'
�
����	 ������	 ���%�����	 ����
'��'��	 ����������	 �-�	 ����(�
�
�(�����	�/�
�	����'-�/�'	����
����������	���������	�	�������2
�	 8������	 �	 ���	 /��'�	 ���� ���
A�
���
�'��/C	 7����������
���
���2	��	B�����
�����-�/	 �����
����
92	�	R�
���	$	 �����	������
�
�����2	 ���� 
�-�/	 �
	 ����
����	��	�
���
��2	
	���������	�

�
����	 �������


	��	��	����'	�	����/	�����'/
���
���'	����(�����	��������	$
�	 
�������2	�/�
�	����������
��
�
����	 �
���-���	 ���'	 ����'-�/�
�'2	�
�	�
�������2	��'�
����	�	���
%���
#�������������������
��/������'��	 7R�"92	 ����
���2
�
�������	�
��/	�	������/	�����
���'���2	 ����2	 �
�'���	 �	 A�����
���C	�������	B���������	
	D
���
�	 5;;0	 ��	 ����	 ���
�������	 �
�
��� ��	���#�
�����	����
(����2
�
�
�-���'	 ����'-�/�'2	 �
���
�
�-�/	 �	 R�"2	 �	 �������2	 �	  
���
�����2	 �
���
��	 �/	 ��
��	 �
	 ���




� �����
����� ��
��

���'����	 ����(����	 ��
��%��
�
#��	 �
	 � ��	 �
�����
���'2	 ��	 B��
���
	 ����� ���	 �������

=�����
���	 ������������/
����������	��	����������	�
	����
������	 ����	 ����(�/	 ���������
��	��-������	
	��/	�����������2
�
�	��
����2	�
�����
���'	��2	 ��
��	 ����������
��	 �
�����
�����
���	 �����2	 ������	 �����	 ������
��	 ���
��	 �	 �������	 ����
�	 )��
�
��	���������	�������	�������
���������

"
�2	 �	 ���
�
/	 �
������	 ���
�� ���	 B��������	 �	 ���������
����'	 �	 /���	 ��
��	 ���'���	 A���
�����	����C	�
�
�������	6
	��
��
����	 B��	 ���
 
��2	  ��	 ���%����
��	 ��
�'�	 ������	 �	 ������	 � ��
����	 �	 �
���������	 �	 ����������
��/	 ����
(���'/	�����'	 �
���
�
�	� ����	��%�'#��2	�����
'2	���
�
��2	 ����	 ���
�� ��
	 ��� ��	 ���
���������	 ���#���
��	 �	 ���2	 

��	 �	 ���	 ����(�����	 "
�2	 �	 ��
�
������ ���	 6�������	 �
	 ������
����	 4	 ���
	 ��
���
'	 ����
��
	 �
�
�
����
�	����
���
	�	�����(�
��������	�	�������	��(�	4$<21N�

)� 
���	�
���	���������	��'�
�
��	 �	 ���2	  ��	 B���	 �������	 �
#����	 ����
�� ��	 ������	 �	 ����
����2	�
�����
������	���
�������
�
'	�����
���
'	�
���
�
	�	=P8
�����(
��	 0	 ����	 �����	 �	����2	 

�����''	 �	 �����(��������	 $
4 ����	�����	6�	����	��	������	�
B����	
	������'/	���������'	����
�����#��	 �	 ������	 ����
���
#��
���%�����	 
-�	A���'��'��	���
���
���C	����/��������	���
���
 ���	�
����
�����	������
��'2	�
���	  ����	 �����	 ��#��	 ������
�
�����'	 �������'���	 �	 �������

�
	 �����������
	 ���
���	 �	 �����
�	 ������	 ���
��	 �	 �����	 ������
�������	�
�
������	�	��#�
����/
������	6�	������
'	�����
���
#�'
���	 ��	 �����	 �����/����	 ��	 ���
����(��	 �
�(�
���


	6�����
��
/	�	5;;4	��	���%�
��������	 ��������	 ������������
���	 �	 ��
�����������	 �	 ���2	  ��
���	 ��	 �����	 ������
��	 ������
�
���	��	�
���
��2	��
���	 ���	��
�
����������	 ���
����'	 ��	 ��
���
����
-���'	 �
�/����	 �
	 ��#��

�����	#����	R	 B��	 $	 ��	 ����� �
���	 ��� 
��	 
��	  
-�	 �	 �������
������	 ����
(���'2	 ��������	 �

��-��
#���
�����	������2	�����
 
���'	 �������	 (�������	 ��#��

������	 ��
�
	 $	 ����� ����	 ���
/��
	 ����'-�/�'	 �
	 ������
7� =�
����
����/	���
�
/2	�	����
����2	����	�
������'	A�����������
��/	������C92	�������
�����'	���
�
 ��
�����	 A�������������	 ���
����
C	 ��	 ������	 �
���'�2	 ��	 �
��#
�	 ��������������	 ������

� ����	 
	 ������������	 ����
(��
��'	 �
�����
���'	 ����	 ������
�������/	 ��������2	 A�������
C
7��������
��'	����'-�/�'	�
	�
�
�� �/	����
/92	�����
����/	�����
�
�������	 �	 ����(����	 �
���
��
-�/	 ���-��	 �	 ���

=�-���������	��
 ����	�����
�	 ������	 �	 �����	 �������'	 ����
��������/	 ����
(�����	 >
�����
��2	�	������	������2	��	B�������
 �����	��
���������	���	���
��2
���
���2	 ������
2	 ����
���2	 �
�������	 ���	 �
��� 
���'�	��B���
��	 �����	 ��	 �����	 ������	 ����
����	�
��� ��2	���
��	����	�����
�
���'	 ����������	 �����	 �
����
��������-��2	 ��	�����	 ��
�
��2



�����
����� ��
�� 
�

 ��	 �	 �
���'-��	 ����'	 �
������
���� ����	 ��'	 ���
�	 �
������
���� ���	 B��������	 '��'���'
���/������	 ������������	 ����
�
(���'	�	��
���	������	���������
����	 �/	 ������'	 �����	 �������
���
	 �������'�


	 �'��	 ���
�	 �
��� �����
���%��������	���
�
��	�������
������	����
(���'	���/��'�	����
#�����	�������
��'	�����	 �����
���%����
�	
	!���
���	�	������
��
�����'	 �������
�������	 ����
����
	��O"B� ��	B��	����	�
�����
����	 �	 �
�����
���������	 �����
���
����2	  ��	 �	 ���������	 ����'
�
���	 �������
���	 �	 ��������/
�
�����/	 ���
�
/	 ���������'	 �
��	 B����������	 �� ���


	����(������	��� 
��	�������
�
���	���
��	�������������2	���
�������	���%���
�2	����-��	�����
������	�	�
�����
�����2	��
��	�
�
�������'	 ��������	����
�
	�����
���
���
#���	 )��
��	 ���
��2	 ���
�'���2	 �	 ����#
�������	 �������
�
���	
	�
��/	��� 
'/	�������	����
���
��	�	�����
�	�������� ����/
���
���U	 �	 ���
�
/	 =�������	 K��
����	��'	B����	��-�������	�����
��	 �����
����������	 ���������
�
�	���	��	���
-
���'	�������	��
������	 ������
��'	 �	 ���������'
����
(�����	
	=P8	B���	�
���
�
���'	 6
#���
�����	 ���
������
�������/	 ����(����	 76?")2
^_`a9	$	������
�2	����-��	�
��
����������	����	������
���������
�
	 ����
/�	 8�����
����	 ���
��2
�	���	 ����	 
�����2	���������	�
�	 ����(������	 �����/	 �
�����/
���
��


�	 �����/	 ��	 ��/	 �	 ������
�������'	�������������	����
(��

��'	�
���-���	�
�
������2	�
���
�
�	 �	 ���
����	 
�����	 �	 �����'�
���	 �
�
����� ����	 �������'	 $
�������
'2	 �����
'	 ���
2	 ���
��
�������	 ��������2	  ��2	 /��'	 ��
B���	 ��������	 �����	 ����-
���'
�	 =�R	 ���
�	 =6�2	 �	 ���������
����	 �
�����	�����	 ���	 �������2
��� ��	������
����	�	/���	�
�
�
������	 ������
��'	 �������	 ����
�����
��	 ������ �����	 ��������
D
	�	 �	 .;��	 ���	 $	 ������	 A��
 � �
����	�
��(�'C	$	�	�'��	���
�	%���
�����
����	 �������	 �/	 ���
�
�
�����	6
������2	�	=P8	�	�����
���	 �
	 ���	 �
	 0	 ����	 �
��������
���/�������	��	15	�����'���/	�
�������
��	 �
�
������	 �
�� �/
��'2	�	K��������	$	M12	
2	��
���2
�	 R��
���	 $	 #���/	 4M5�

=	 �
�������	 ���#���
	 ����
�
���
#��	 �
����	 ��
 ����	 �������
�����/	����
(����	������
����
����	 �
�(�
�
�

���
�
�����	 �	 �
����	 ��
��
����	K�����������	=���
�	=	����
#
	.;�/	 ���	 �	K=	�
��� 
���'	���
�
������	 �
�� ���	 ����
(���'
7� �����������2	
��
����2	������
�������	 ������
/9	 �����	 ���
��
������	%����
#�'�	K����������
���%����
#��	���%������	7K��9
�	 ����
��	 �
�����
�����	 �����
��������-�/	 ���
�����	 K��	 �
��-������������	 ��3�������'
�
�����
�����2	 �
���2	 �
�	  
���
��/	����������
�����U	�����
��
������������#��
����/	 �
�����
�
�����U	 �
����	 �	 ��������	 ����
���
2	��������
��	����
(���'	��
��#�
�����	�������
����	$	�	���
���������/	 ������
/2	 �	 �������
���	 �
�'�����2	 �	 ��� ��/	 ������
��/	 �����
��
/�	 ����������2	 �



�	 �����
����� ��
��

 
�������2	 ����	 �
���-���	 �
�
�
���
����	#�����	�����
���2	��
����	���'���2	 ����
	�
�����
����
������� ����	�����
��� 
�	��� �
���	 �����
��2	 �����
'	 ���	 B���
�'�
	��#�
����/	����
�	 �
	A�� �
��	 ����������C	 �
������
�	 ? ��
���
'2	 ��	�	���
�
/	K=	
�������
���	 ����(������	 �
�����
�����
�/����	�	��
�
����	��(�	�����2
��������	������������	����
(��
��'	�����	��-���������	��
����
 �����	 ��
 �����

���%��������	 ��/����	 �	 �

�������	�������'-�/	���
���	K=�

	 0..+	 ��	 �������'	 K�������

7���	 �
����'���������	 ���
�9
����'�
	 D��������2	 ��	 �������
����������	�
	�������'���2	�����
(��(��	�	�������	�
�����
����
7�	 �������
��	 ����
��	 ���	 ���'�
��'92	 �������
��	 ��������
��	 �
�� ����	 �����	 ����
2	 �
	 �
���	 ��
������
��	 
	 5;;4	 ��	 ����'���
'
�������'	����'�
	��(����	�	���
��
���	 ���	 ���	 ���/����������
�������
	 ��#�
������	 ��
���
�



����	 ����	 ����
�
	 D�����
���
	�K=	*	.<b1<$=K	��	 0..<	 ��
�	 ����
���	 ���������	 7�������9
A����������/	 �������'���C2	 �
 ����	 ������/	 �����'��'	 ����
�
���2	�	������/	�	�
��
/	K������
��
	 ����'��'	 ��	 �����	 0	 ����
�
��������2	����	����-��	�	���/
���	 �����	 ���
�
/	 K=	 �������'�
��'	 �	  �����	 �
��������	 ��	 ���
���	01;	�
	�
�����	L��	��������
�����
���'	 �
������
��	 �����
���'���	 A��������
���C	 ���
���
����	 ��	 �/	  ������
	 �	 ���%����
�
/	�	�
������	��(�	��%���
#��
�������������
�������	��������
 �'��2	 ��	 ����	 ��	 ���
��

��������
��	������������	����
�
(���'�	 6�	 �	 /���	 �
���
���	 ���
�������	��� ��	����	�����	����
��'��	 ������������	 ��������'
����'-�/�'	 �
	 ���/	 �������'���
'/	 �
����	 ����
���	 �	 �����	 ���
��
�����
���'	�����
�����	����
���
��'2	 �������	 �����	 ������
����	 �	 /���	 �������������	 �
��
�
���	 �
	 �
����	 ��	 ��/�	=�� 
�
���%�����	 ������
��	 �
	 ����'�
���	 �����	 D��������	 �K=2	 ��
�������	 ��
�
	 ���������	 �����
�������'���	����	��	�
�(������

=�-���������	 ��
 ����	 ��'
�������������	 �
����	 �	 A�����
����
��'/C	�����	������������
�
���	 �
���/2	 ����
�
����	 �/
���%����
���


	�
���'-��	����'	�	/���	���
�
�����	������
	��������#��	K��
����������	=���
	���%��������

������	 �����
���'	 ���� ���'	 �
B���	��������	���������2	�
�����
�'�-�/	 ��
��	 ����'-�/�'	 �
���%������	 �
	 ����������	 ����
���
�����/	 7�����������2	 �	 �
��
�
/	K=9	�
�
������	�	���/	
�#���
���
	 ��	 ������	 ��
�
��2	 ��
���'
��	 B��	 ���-��������

"�
���
#���
�����	 ������
�
#��	��������	�
�(�
�
	 �	 ������
����	 ����	 �
���	 ����	 �����
	 �

������
���	 ���������/	 �	 ���%�
����
��	 ����������2	 �������
/��'	 �	 ��	 ���'�	 ��������������
/
�
����
2	 ������
�	 ������2	 ���
�����	 ���%�����	 �����	 �������
���
��	�	�������
/	����/	 ������
L��	 $	 A����
�����	 ����
(���'C2
�	 ������/	 ������
��	 ��������
��������'	 ������#��	 ������
�
������	���
���
#��	����
	�	����
���	 
������	 ���������'	 ��
�



�����
����� ��
�� ��

����'-�/�'	 �	 ���%������	 �

�������'��'/	"6�	�	�
���/	���
�
�
/	 ���
�

�	 ����(����	 �������	 �
��/
����
(����	 �
� ����
���'	 �����
4;	 �	  ����	 �/	 �����'���	 ������
 ��
���'�	 >
	 B���	 ���#�����
�����	 �������	 �
	 �
���	 344566
777�89:4;�<=>6
 ?8@�ABC?<9;DEF4�
= ���%�������	 �������	 ������
���	���������	��������
��	����
�
�����	���%�������	%����
#��
7��:92	 ������
�-��	 �	 ������
�
������	 ���%����
#��	 �������
��/	���%������	7��=�9	�	�
���
������
�(���'	 ��=
��	 $	 ����
���
�������	 ���%������
�����
��	������
��
�
���	!���(��	
��
��������	 �	 B���	 ���'��'��2	 �
 
�������2	������
����
'	%����
�
#��	�
��������	���������
����
��	 �	 ������������
	 7Hcadd9	 �
������
����
'	 ���%����
#�'
���%������	�
��������	/��� ���
���2	 ����������
�-��	 �����(�
��������	�	B���������	 7H@eZ92	

��	 �������	 "6�	 $	 ����
���
���
�	=�������	K�����	�	����
�
����


�'�	 ��	 ��
������	 ����	 ��
�����#����
��	�
�	%
��	�
��� ��
��'	�
��/	����
(����2	��	�	�
���
'���'	 �
	 �/	 �����
��
���	 �	 ����
��#�����	������
������	������
������2	������2	����
�����	R ���
��	��	������	�	���2	 ��	����
#��
����'-�/�'	 �	 ���%������	 �

�������'��'/	"6�	�	�
���/	���
�
�
/2	���	���������	"6�	7��
���2
�	=P8	�	��'���	���	�	P��#��
�	 ��������92	  ����� 
���	 �
��
�� ���	6�	"6�	������	������	�
���
���
��	 �
���
��	 �	 �
����
�
�-���'	���
��2	 ��	�
���	�
����

 �'	������'2	�	�
��	���	�������
�
�������	 ���	 ��	 ������	 �
	 �/
������
#��	 ����	 ��'� ����	 ��
�������	�������������	����
(��
����	 )��
��	 B��	 ��	 ��
 ��2	  ��
���%�����	 �����
����	 $	  �����
=6�	 ��	 ������	 
������	 �����
�
���'	 �
����
������	 �
�������
�
����'	 ����
����/	 ����
(����
�
	 �������'��'	 "6�2	 ����-���
�'	 �	 �/	 ���
�
/2	 ���	 ��������
�
��/	����
(����	���	��	�	�
����
��	����	���
�� ��
��	��������	�
����� 
��	����������	�����	"6�
���%������/	 ������
����

���	B���	��	 �������	 �
���
��
�	�
�� ��	!�(��������	 ����
(��
��'	(����	���
�	=6�	78����
���
�
�
2	8������2	!��
����2	������
��2	&�����	�	?��
���9	��	0..,	��2
�������	�������������	����
���
�	 �
��
/	 "6�2	 ��������-�/	 �

����������	 ������
�(�/	 ���
���
�2	 �����/	 ���%���
���
#��
���	 �������	 ���%�����2	  ���2
���
��2	 ���	 �	 
�
���� ��/	 �����
����
/2	 ���������-�/	 ��'�����
�����	 "6�	 �	 ������
������	 �
�����������	 ��
���

���%��������	=6�	�
�������
���
��2	�����������2	�	�	���2	 ���
��	 ��������	 ����
�����	 ����
�
(���'	 �
��� 
����	 �	 ����	 "6�2
(�
����
�����	������/	�
������
����	 �	 ���
�
/	 =���������
�
���
	������
�	��(�	����	�
����
���
	��������	$	�	��%�'���	����
#�����	 J?�)fJ2	 ���
��	 ����
�����
��'	 �
��'���'2	  ��	 �
	 ���
�����	 ��������
��	 �	 �������

�-�
+4+2� 	+5��
3
��
�����
 ������������
 
���!

����������
 ��������
+����
����
�&�
 ������



�
 �����
����� ��
��

=	0M	��	0.	�
'	5;;<	��	�	�����
��	"
�����	���	 �������	 A���
��
�����E	 ����
	 �	 �����-����	 �/	 �
��������C	 ���/����	 � �������
0.��	 �3���	 ���%����
	 ���
�����
���	:���'����	7��:92	��������
(���	�	���
��	���
�������	������
������������	 ���%����
�


	 �
����	 �3���
	 ����'��	 � 
�
����	<.5	�����
�
	�	�����	,;;	���
����2	�	���	 ����	�������	%��
��
���	 
)� �������/��2	 ���������
������
������	 %����
#��	 ���
�
�������	 7�:�9	6)� ��,��72
�����
�����	 ������
��	 �:�
�) ����",����2	 ��������(��
�����	���	�����
�
��2	������
���
����	 ��
���������
	 �	 =���
	 �
�
�����
�����2	 �����/	 ���
�����/
���%������	:���'�����	6
	�3���
��	 �����������
��	 �
��������
�����
#��	 ��	 51	 ���
�2	 �	 ������
���	��	���
�	K�����2	
	 �
���	��
=P82	�
�
����2	 �
�
��2	 I����
�����	 �����
#��	 ���������
��
����� ������	 ���%����
	 &�����2
�����������
��	 ������
������
 �����/	�����/	���������/	���%�
������	 ����'-�/�'	 ���
�������
��(���������	 !��	 �
���	 �����
��
������	 ���%����
	 ���
�����
���	 L�������

D����
��	�3���
2	�������	����
����
��	 �
	 �������/	 ���%�����
#�'/	�	01	���������
����/	�	,	���
�
�����/	���
���
#�'/2	������
��
�'��	�����	0+;	����	 �����	��:�
���%����	 �	 �
���'-��	 ����'2
�����	����'-�/�'	���
������ ���

#���
��� ���

���
���#���� 4���%����

���	�	����������
�-��	�����(�
��������2	 ��3����'��	 �
��������
�
��/	 ���
����2	 �
�	 
����������
��������2	 B��������
2	 ����������
���2	 �
(�����������2	 B���������
�
2	 �������
'	 �����(���������
D����
��	��������	#���	�	 �
�
 �
���%����
	�
	�������'-��	 ����
��/������	������2	����'��	51 ���
����#��2	 ������	 �����	 5;	 ����
�
���	 �	 ���
��2	 �
���������	 �����
0;;;	��������(�/	�
	�3���	�����
�������	��	�
�
������	��
��2	����
��������2	 �/�
��	�	������'�	 ����
�
2	 ����������	 �
����	 �	 � ���2
���
��2	 ������
������	 �
����2
B���������

6
	 ���%����	 ��'	 �
�������/
������	������
��	��	������
����
���	 ��'�'�	 ��:	  )��/���"�"
����-��2	  ��	 ����
	 ������
���
�������
	 �
	 �3���	 ����
��'�

0 �����
�	 ��	 41;	  �����	 ���%���
��
�	���	B���	�	���#�����	�����
���	 ����'��	 � 
����	 1120N	 ���/
 �����	���%����
�	5.;	�����
���
������
��'��	 %�
�#��	 =�#�
��
������
�� �����	�
����	:���'��
���2	�����	0;;	$	����
	����/	����
!���(������	 �����
���	 ����
��� ���	$	<00	�	+0	$	���-����


	�� �����	����
��	�������
�
���'	 ��:	 ;)��!���"��	 ���� 
�
����2	  ��	 ����
���
#�'	 B�������
��	 ��
���
��	 ���	 ����(��	 ���'�
���	 �
	 ������'	 ����
	 �	 �����
%�����/	 ����'-�/�'�	 ��	 ����
�
����
� ��
2	 ����
�����	 �
���
�
����	 ������	 ���
	 /��'	 �	 �����



�����
����� ��
�� ��

����	�������������	�
 ����
2	���
�	 ����(��	 �������	 ���'�
��	 �

��
�
	 ���%������	 �	 �
����/
�
��������2	 ������
��	 ������
���
���������	�
����������'	���
/�����	!���(������	�������'���
���
��������(��������	 :���
�'����	�����	��'�
��	�	������
�
������	 ������2	 
	 �
���	 %����2
�
�	A����C2	A6���
C	�	������	����
��
������	�	�������	��
���
#���
�
�����	����
����	)��	�����'��
�'	 ����������	 ����	 �������'��'
�	 ���
��2	 ���	 ������'	 �����	 ���
(��
'	 �
�� 
'	 ���
2	 �	 ��	 �
����
(
��	�����	�
������
�	�����
��
�	���%������	>
	���������	����
�	 ���
���	 ����	 �����'��	 �����
0; ����	�
�� �/	����2	 ��	�	�����
(��	 �������	 ��'�
��	 �	 �
�	 �
���
�
����	 A���
�����	 B%%�����CE
���������	 �������'���	 ��	 ���
�
��	 �	 ���
�	 �	 ������	 ���
��
8����	8 ����2	 ��	 ����
�	L�	
���
����
2	 A��	 B������
	 %�����/	 ���
�
���	 �
�����	 ��
������ ��	 �
�
(��	 �
#��C�	 
	 �
���'-��	 ����'
���
��������(��������	 %�����
����	 M;N	 B������
	 ���
���

D���
� ��	�������	�
���	����
����2	 �
�	 �����(�������
���	 �
�
��� ���'	�����	����������/	����
���������	7������'	�/	�����	5;	��
������	�������'	�
	0$5	���
92	���
��
���	 �������������	 �����
	 ��
������
�������	 ��
���������
2
�
�����
�����	 �	 ���%������	 �
#����	�
��� ���'	��-���	�
#���
�
������	 ����������
	 ��	 �����
���
�������	 ���%����
��2	  ��
A��	������	�������	������	�����
��'	 ��#�
����/	 �
�������	 ����
�����C�	���%�����	����
�
��'	�


�
��� ����	���	���������	����
���
������	%����
#��	���
�����
���	 ������
�����/	 ���� ��/
����
(����	 �	 %�������	 "6��


	 �
��� ����	 ��	 �����
�	 ���
���
���	 �3���
	 ��3�������	 ����
�����'	��	����������	���
������
����	 ������
�� ������	 ��-����

����
2	�����
�����	�
	����#��
/
�����
�������	A��	����
��	����
�����������	����2	$	�
'���	�����
���
����	 ��:2	 $	 ����2	 �������
�����	�	����(����	��
�������'�
��'	 %�����/	 ����'-�/�'	 �	  ���
���	 �/	 �����2	 �	 �����	 ��	 ������
�
�	 �	 B����	 ����C�


	 ����/	 ����������'/	 �����
(������	 �����
���	 �������
��
��������	����#��	�� ������	����
�
�
	 L�	 
������
	 �	 ����������
�
	 �
����������	 ������#��2
����������'	��	���������	���
�
�
	 �	 �'�	 �
'������	 ��	 ������
�
������	 ������
��

6��������	 �����
��2	 �	 ������
���	 ��	 ����
	 ����/	 ���2	 ������
����	�	��������	�	
����	��������
���
	 ���%����
	 �	 �	 �����	 �
���
�
������	 ����������'���	 )���
��	 ������
�-�/2	 ������
��'��
(��	 ���%�������	 ���
���
#��
���
������ ������	 �
���
	����
�
���	 A&
��
������C	 7��	 &

/�92	 �
 
�������2	 �
'���2	  ��	 A�
	 �����
���'��'/	 ���
��	 ���	 ����(�	 ���
���
���'	 ��
�
	 ���%�������
? ��������	����������
	���%���
��
	 ����
	 �
�/��'��'	 �	 ���
��2
�
�	 �
�	 �	 :���'����	 ��������
������	 �
��
��'��	������
����
���	 �
������	 %���2	 �
���	 �
"6�C�	���������2	��	���	������2
��������#�'	K�����������	=���




�� �����
����� ��
��

�����	 �	 ��
 ��������	 �������
����
��	 �
#���
�����	 ��������
:���'����2	 ��	 ���������	 �3���
��	 ����'��	 �
'������	 �	 ��������
���	 �	 ���
��	 ��%�������
	 ��
�
�����	��������	6�	B��	�������
�����2	 �
�	 �	 ���������	 ������2
�
�2	 �
������2	 �	 ����������	 ���
%�������
2	 �	 #��������
������
������������'	 :���'����	 �
68")2	��	���� ���	����(�����

�������	 �����
���	 �3���
�


	 �����������	 �������	 �����
���
���'	 ���%����
	 ���
�������
:&�	 7R�	 A���
��C92	 ���������

�:�	 Q�O������
	 ���� 
����2
 ��	����'���	�����	��������#��
K=	 �	 ���	 �
�(������	 �
	 
�����
��
�'�	 �����	 ���%����
��	 �����
�����	 �
�
 �2	 ����	 A�����������
�����������	����/	 �����	K����
��������	=���
	 �
�������'	 �	 ���
������	 �
	 �
��/	 �������/	 �
�
��
�
/2	������	��#�
�����	�
-���
����'-�/�'	B��/	���
�C�	)�	����
 ������2	 ��	A���%�����	������
��������#��	 K=	 ������	 �	 ���
��� 
�2	����	��
	�
��	��	�������
�����	� 
�����
��	��	���/	���#���
�
/	��-���������	�����C�	Q� ���
����	 ���
������'	 �
���	 �
	 ����
����
/	����
���
#��	�	��	�������
�����2	 ����/��������	 �������'
���������	�	�
#���
�����	������
���	 �
�����
��������	 ���	 �
����
 ����	������
�����/	 �
�� ��/
����
(����2	��������	�	������
�
����	 �����
-���'	 ������'����
��/	 ������-����	 �
���
�
	 �
���-���'	 �������/	 ��'�
�������
�
����
�-�/�'	 ���
��


	 �
��� ��������	 ����	 �
���
��	 �3���
	 �����'����	 ������

������	 ����������
	 ���%����
�
;)��!���"��	 ���	 �����	 ����
�
���	 �������
�����2	 
	 ;)� ��"�.
H��7	 $	 �
�����������	 
	 ����
�
=����
	 �	 �������
	 ��:	 ����
����
��	�	 1.	 �	 0,	  ������	 �����
�����������


	 /���	 �
����	 �3���
	 �
���
�����'����	 ���%����#�'	 �����
�
���	 �
��	 ��
�������-�2	 �������
�
�����	 ��
�����'	 �������	 ���
����
�	�
���	L�O
������
2	�	����
��������
'	 #�������'2	 ����'�
-���
'	 ������
�	 �����
����

?	 �����
#��	 ���&	 �����'��'
�'�	 ����� 	 �	 �����	 ��	 ������
�
�
�����(���	�������� ����
	�	���
����������	��:	�	 ������
�����
����	�
	�3����	�����
��	������
�
�����/	�	�
#���
����/	���%�
#�������


�	 ����'	 �
����	 �3���
	 ��'
�
�������/	 ������	����	���
���
���
��	���%����	�	/���	�	��	���
�����
�
�	 ���	 ���������'�	 !��

�������
����
	�����������	�����
����	 �����	 �
�� ���	 �������'
:���'����	 �	 ��O"
������

����������	 �3���
	 ��:2	 ���
��������'	�����
���2	����'���	�

���	���������	�	������#��	(��
����	����-
����	�	�������
/	�
��
�����	 ��%���
#��	 :���'�����
&�������
'	 �����
#�'	 ��	 ����'
������	�	���������������	���%�
�������	 �
����	 A8/�'C	 ������
%�������
�
	 ��	 �������/	 �
�
��
�����'/	 �
����	 ���%����

�����	 ���(��(���	 1���	 �3���

���&�

�4��-�12*� �
4�6�13
����������
 �����
����
��

�������
 G+�H



5�����������

<�99=99=��>������
���
���
�����
������2�7

?,=-@�=8A�A.��=���&���<�=8,�B��,B�

�	���<�999�.-�2�7
C�DEFG<�FHIJKLMN)OP

�

�� � � � � = � � " " � /
� � � � � * � / I

8���,������)
)0
64�
178�*�2��0+*


�����	
���2
>�� ����	
���2
R�
���	
�"�2
�
��(��	
�=�2
���(����	
�]�2
���
��	
�K�2
���/����	8�8�2
"��%����	��R�

��-01���)*+,-+.�+
 ������� ��������������� �����������
���������  ��!�����"��� #��!��$%�&

�����������������������(���*�7,������"�����,�,����4�2��2�J�,�)����*)�K�LMNOPN��,�MO)LQ)OQ


	������	���������
��	����-���'	
�������
R"8&�"8==2	R6"K&:8�=2	&R8	g6������g

������
��	�	�� 
��	0,�;M�5;;<�		:���
�	M;	/	+<	0b0M�
?���	�� �	��	52;.�		? ������	��	52M�


�������%�	
�� 
	&��� �������

2�  ���� ��#��
��������� ���&��0���
� 2������
������ ���

� ���
��
�

9, 
0��� �


�#
� 
� �
��

�����
�� ����	
� �� B8� ����"*	
�����
 �� ������ � 

�*	��
�� � ���
�� �� �� 
��+�� �� 8,,� #����� � 
� ������� � ���
�� )

%�*����
�������	
���	��"�#��
<�QR���	�
�)�R���
��
/)�R�������
/S��Q%� ���
�

/�������
����
�	/����#����


�
�"��1
 ��S��QT��$�*��/*����*�����
/0U�V�
 $
*��/*�� �� *�����
US�� Q�"�
� ����/� �
� ����
����#�� �*�������
�S�� Q7�#��

/� ��	#

��� ����	�
�US� 
� QW�
����
�� ���
"�	��
�� ��� ���
�	/���� ������ 
�"��1
 ��S)

7��&��0������*�����*������

������+���
/�
��	0���
��
��X�"����#�����
�������;���	�+��
�����
�
��	/��������������	�
��
�"������
��+��������
�
����� ��"#
 � 
������
�� �� ����
�"01��� ��������
�	/�
���� ���������
�����
��
��#
��01���������*�
�01
 �����
����
���
�����
������)�%���
�������� 

��*����
�� $� ��#����
�� ��	#��� ��� ����	�
�� �� �,,�� #)� 
� ��� �������
�� �	�
��*�
�
����*0�+�
�����&�����
�
�"�����-,Y)� �7��&��0������
"��0
� 
���
+�� ���

�� ���
+��
�� '�
��#�� ���
�	/��#�� ��	�#�)

�
����;������

������
�
�� ����&��0��������

�'�(����)��#�"�����
��	�� �
��� ��	
� :���"��� ��
��
� �� �����
��	������ ����

�	/�
���� �
��� �����
�������
�� ��� ������� 	/#�
� ��� ����+���� ���������

�� (
�� *"��
� �����
�

�+�	��
� ���	���
�
��
� �	�� ������ :���"��)

W��*����� ����
��	����� ��������"	�>)�Z������� ����	�#������ �������

��X�"����������������
������
����0
�����

���
�
��	/��#������������	�
�

�"���� �� 
��+�� "�
����	
��0
�
�"0�� ��� �������
0� �� �"1��
�"01���� �
�
��"
��	�
�� 
�"��� �	�� *0�+�
�� � �
���	��)

������ �����	
��� 

������
�� �	� ���

� �� �� ���������� 
������

♦ �������� !"�#!$�%�&� 


